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Which of the following organism is multicellular?

&2 o8 P B 205TVEEIOLVE 25D ?

Options :
Bacillus
STPRICIR

(]

1. ®
Amoeba
E9EET®

2. %

Yeast
S

3, % i
Spirogyvra
@)500°

4. &

Question Number : 2 Question Id : 1056152082 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Which of the following structure is found in all prokaryotic cells?

]

&s 500 PR o) ATyt SolSE PSS HaHOE Sodd?

Options :
Mitochondria
@*33‘ 5‘“0@0\5«5"
1. ®

Golgi complex

FT“ff.a roSao
= el
2. %
Ribosomes
GRSV
3.9
Lysosomes
OTFF LN
4. %

Question Number : 3 Question Id : 1056152083 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
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Match the following lists :

List I

A) Plato

B) Agar

C)  Arnica and Withania

D)  Bessey

S0l DEELD BBRGNG:

RS 1

A) res

B) g0 (96

C) &0 57, DPeIAU®
D) @)

The correct match 1s:
28 F.}Erc:gar‘é 2369
Options :

A B C
T I I

List IT
I) Developed botany as science
II) Medicinal plants
III) Phylogenetic classification

IV) Inert polysaccharide

VRS II
D S$)EFQ9% a8 PP WdSHE
WOSe0&ed
II) coodh dngyen
III) SEQT0 5080

IV) e FOPROE

v



I III II IV
2. %
A B G D
I IV II1 II
3. =
A B e D
I IV I1 III
4. &
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Assertion (A) : Algae are primary producers and form the basis of the food cycle for
aquatic animals.

Reason (R) : Algae increase dissolved oxygen levels in their vicinity.
RBYBS 0 (A) @ Fderww FOWE GO HBULIT Gl UE 2oL WIS SLOrOdy
BTGl Pl UFeYS oW,
s&eie (R) : BaSren el oéw D8O PBFS S0 w820 FOND VoS aw.
The correct option among the following is:
&2 5ol D )TOS DOGRIE:
Options :
(A) 1s true. (R) 1s true and (R) 1s the correct explanation for (A)

(A) 09350, (R) 0855850 500050 (A) & (R) HOGWS D583

(A) 1s true. (R) 1s true but (R) 1s not the correct explanation for (A)

(A) K938, (R) H55a50 0w (A) & (R) 0OGWS e 50
2. ¢



(A) 1s true but (R) 1s false

(A) dBgadw, = (R) B0

3. %

(A) 1s false but (R) is true

(A) 9085w, 2 (R) 0gadw
4. %
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Choose the correct statements from the following.

A)
B)

C)
D)

Ramental hairs and open dichotomous venation are found in Pinus leaves.

The sorus in Pteridophyta i1s covered with a membranous sheath called
indusium.

In protostele. water conducting tissue 1s surrounded by phloem.

Salvinia produces only one kind of spores.

QO TPgEOD (oIS,

A) TPty SR aRO0NN DAYB Q3Ere SIS TPgRNMN @i DSOS GolPOw.
B) ﬂ&@&? EEGCEJ ko ve) 5’.)_)03-3"’5‘.}:5& (EINTo T @ué arGedd EGG:}T,SFJCQSJD @b,
] G50 DG PoadSne o FRE Sneruees” eabointid A DG Snerodn
IAVIAN
D) P DAl e SEZ0 A WPl &SNS e,
Options :
A. B only
A B g
1. &
B. D only
B. D aSegda
2. % =



B. C only

B. C o5r¢5a3

Dt
3.¢
A. C only
A, C Sl
4. %
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Which of the following statements are correct with respect to the inflorescence in

Crotalaria?

A) The peduncle shows an indefinite growth.

B) The peduncle shows a definite growth.

C) The flowers are borne in an acropetal manner on peduncle.
D) The flowers are borne in basipetal manner on peduncle.

SOTBAL® i) DTGPS Notoded &2 Sobd o) TR NHOCNSD?
A)

&i

Ky D508 y00 BDFYE DENEL ErE)D.

B) R drgsyeto 983 BEMEL SFE)D.
) DR TGS Yete D AP YL WIPRPEE0E 08 )0,
D) ) dTg0SY e D aF Y0 SEPTPEPSENeS” a8 ).

The correct statements are
EINRNVISIOWINEV ST
Options :
A. D only

A, D S8

1. ®



A. C only

A, C Soghedd
e

2. ¢
B. C only
B. C &g
3. %
B. D only
B. D &g
4. %
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Identify the type of aestivation in which at least one petal completely overlaps others
m a flower

A) Valvate
B) Twisted
C) Imbricate
D) Vexillary

2ot Ed0 Bty SETH Do MOOS B ot3D VBT FIT Sodb KN BIID ST S0l
A) Sardooingdo

B) OSB8OS

C) W5

D) 38ye0

The correct answer 1s:

IARSITOVSINEI IV AUNTS
Options :

A. B only

A. B &g

B. C only

B. C S8



A.D only

A, D SrGe

C. D only

C. D g
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Assertion (A) : Sporopollenin is one of the most resistant organic material present in
the exine of pollen grains.

Reason (R) : Sporopollenin can withstand high temperatures. strong acids and
alkali. and cannot be degraded by any known enzyme.

QBSBSSw (A) : F)TFOIS HONBDO IrgEIeESSIoS Gl a8 @eSgo
DAG B VoBob Do

8o (R) : VOTFOIN 968 &I, 00 Baorey oDOCIN FOPUD
58550650, DOV o) o I oo DolSd.

The correct option among the following 1s:
&2 S0l DQYTOS DOGLIR:
Options :

(A) 1s true. (R) 1s true and (R) 1s the correct explanation for (A)

(A) D580, (R) H95a50 00050 (A) & (R) OGS D588
1LV

(A) 1s true. (R) 1s true but (R) 1s not the correct explanation for (A)

(A) 09550, (R) He93850 @00 (A) & (R) 0O DSea T
2. %



(A) 1s true but (R) 1s false

(A) 0S5, PO (R) @058
3. %

(A) 1s false but (R) 1s true

(A) 09550, P (R) D50

Question Number : 9 Question Id : 1056152089 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Find the correct character related to double fertilization of Angiosperms.

A) Male gametic nucleus fuses with egg cell.

B) Male gametic nucleus fuses with antipodal cells.

C) Male gamete fuses with synergids.

D) Male gamete helps in the formation of primary endosperm cell.

=3

€355 )& 20z QIDOOECEH Notolod N0 907N (HQos)al.
A) pdox JeCIPigdes Euéguﬁ&} 9ol8Eaained” Nolirlic Wololh.
B) a8 Re0Ir(iele: Sow¥aln DEwPEE SErues” Dediriie Delotied.

C) sty meGirHizderen Dur Smreed” Hodiriie DolEdow.

D) s8R Do0irizleien P @oBodud i §i QTP PO &7E Yl

Options :



A. B only

A, B Sr¢vh
1.

A. D only

A D @
2.9

A. C only

A, C S8
3. %

C. D only

C. D Jr@ad
4. %
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Find the correct sequence of arrangement of the flower characters in the floral
diagram from the posterior to the centre.

DRGNS D DoSTPLD SEINEI0E DEETTPL o SoiPAS ISP (HQolete.
Options :
A dot or circle, corolla. calyx. gynoecium and androecium

o 08, O 88 SO0, BESM HEPIP, SKE HEPSP, BoES T, TSP

1. %
Bract. calyx. corolla. androecium and gynoecium
DR eDe0, GA5 DFTTSD, ©80n T E?, SATPIT, e90es Fadn

2.
Bract. corolla. calyx. number of anther lobes and number of locules in placenta
QDRI E0, @Eln TSP, 088 DTS, VOIS IS0 Doy, Wolirgd
Pl IO Qog

3. %

A dot. a circle. calyx. corolla. placentation and number of stamens

28 08y, 8 SLOke, G58 DT SP, B0 DT P, WelkiT®gie, SVTPL Noeddg



Question Number : 11 Question Id : 1056152091 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Identify the plant showing following list of characters.

A) Tepals

B) Tendrillar climber

G) Medicinal value

D) Hypogynous

E) Ornamental

<2 $o& BDIGEN VAT SO 308y L (P Gouadw,
A) VHVIZ SN

B) 0 Bijees” odi5eS Iy

C) EATSTAR IS VN

D) 90iS T LRSI

E) @508 a0s)
Options :
Gloriosa

féﬂiﬁ&ﬁw
1. ¢



Smilax

)
2. %
Asparagus
&30y O™ f0
3. %
Colchicum
.S‘”ﬁ%fni)
4. %

Question Number : 12 Question Id : 1056152092 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Match the following lists :

List-I List-IT
A) Leeuwenhoek I) Observed different kinds of cells

forming the tissues in plants

B) Robert Brown II) Cell wall is the unique character of
the plant cell

£ T. Schwann III) New cells are formed from pre-existing
cells

— - —~ 4 & v a - —



D) M. Schileiden 1V) First to observe a hiving cell

E) Rudolf Virchow V)  Observed nucleus is a cell

Sold DB BBDGWIG:

DEE-1 E08-11

A) HID55E D 8o add S SErw
Seae PR )8 YBIEISR (0o

B) Dvmgggn% II) Se¥adde Sysfmre DBg¥ Lo

£ €. g ) $§& Sren @S5 Yrogand) S
300D IS YD

D) M. & IV)  ed¥erd) Soodénr (9o

E) GGy Rleg V) Ee0S Sodded) (10Qoldad

The correct match is:
TN K}f}::_g:é 2269

Options :

A B i D E
IV III V I II



A B C D E

IV II V I I11

2. %
A B C D E
IV Vv IT I I11

3.¢
A B C D E
IV v I IT 111

4, %
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Assertion (A) : Growth 1n the primary wall of a young plant cell gradually diminishes
as the cell matures.
Reason (R) : Secondary wall is formed on the outer side of the cell.

DY BB50 (A) : 28 TS D& SeaoS POHNE Eduio DAL Eedo cSCLEIENS) §E SalvorP
Soded.
&eio (R) : BIBAD ESSo Sedo VT JFLVDOTKY) 816D,
The correct option among the following 1s:
&3 $o0 DDTOS” DOANIA:
Options :
(A) 1s true. (R) 1s true and (R) is the correct explanation for (A)

(A) De3gai0, (R) De8gah0 HOOKH (A) § (R) OGS DabiSes

1. %
(A) 1s true. (R) 1s true but (R) is not the correct explanation for (A)
(A) OBgadn, (R) Rgan ©ond (A) § (R) 0000 D8 3¢

2. %

(A) 1s true but (R) 1s false

(A) 09550, PO (R) @09
3. ¢



(A) 1s false but (R) is true

(A) ©855w, T (R) 0930
4. %

Question Number : 14 Question Id : 1056152094 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Assertion (A) : Cytoskeleton in eukaryotic cells is made up of a network of filamentous
lipids and polysaccharide structure,

Reason (R) : Cytoskeleton is composed of microfilaments. intermediate filaments and
microtubules.

o

VBYBS 0 (A) 1 Ve Toll SruS §i @b, Botlrnde ATy Oig hOoin
FOFPOG AT TS 5 NGcS ATy Ede.

=&te (R) D rEOrD Sofehen, gy Sotrehen DOOKN ArE wrdiuds
%2 @Doesde IS )Ga2e0,

The correct option among the following is:

&2 S0l DQYTOS DOGNIA:

Options :



(A) 1s true. (R) 1s true and (R) 1s the correct explanation for (A)

(A) 095850, (R) D958 00050 (A) & (R) HOGS D588

1. %
(A) 1s true. (R) 1s true but (R) 1s not the correct explanation for (A)
(A) OBgad0, (R) Sgan 0w (A) § (R) 0000 D 3¢
2. %
(A) 1s true but (R) 1s false
(A) 0Bz, A (R) ©90Sgw
3. &
(A) 1s false but (R) is true
(A) ¥0Sgdw, 50 (R) dSgdw
4.

Question Number : 15 Question Id : 1056152095 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Identify correct statements from the following:

A) Cotton threads are made up of polymers of amino acids.

B) Like Glucosamine. amino sugars are complex polysaccharides.
& Hormones are not always functional proteins.

D) Acid soluble pellet from cytoplasm will have polysaccharides.

& $00 PO DO FPgAIOWD (DG,

A) DET LD NS WoiIPL BENYeEFLe” Bolrdl)S ow.

B) (05788 ©9a0RL SO B $5) 8w St Dofy POFRIEL.
C) ¥ LH00) Doy SoNrey ¥ P .

D) SeagiadgotS' D @ol TPadedaly grichiotly PP Golrow.
L [ IR o

Options :
A. C only

. A, C drgd
B. D only
B. D Srgd



B. C only

B. C &S
3. ¢

C.D only

C. D arged
4. %

Question Number : 16 Question Id : 1056152096 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Assertion (A) : In DNA double helix. one full turn of helical strand contains twelve
base pairs.

Reason (R) : The pitch of DNA helix 1s 34° A,

OG0 (A) : GODDD BIVOYVS &8 WY V0L WOES DI ok TEBSW
&olIPOW.
s°8ese (R) D GODRR) 00yt BOFL ity Srdan 34° A.

The correct option among the following is:
&3 5ol DTOS DOGNIA:

Options :



(A) 1s true. (R) 1s true and (R) 1s the correct explanation for (A)

(A) 0958, (R) H55850 000500 (A) & (R) OGS D583

1.
(A) 1s true. (R) 1s true but (R) 1s not the correct explanation for (A)
(A) DBgaiw, (R) 0Sgan ©ond (A) § (R) 0000 Db st
2. %
(A) is true but (R) 1s false
(A) SBgain, °A (R) ©0Bgasw
3. %
(A) 1s false but (R) 1s true
(A) 90Sgaw, 5 (R) 0Sgiw
4. ¢

Question Number : 17 Question Id : 1056152097 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Match the following lists :

List-1I List - II

A)  Separation of homologous chromosomes ) Telophase

B) Ttiation of chromosomal pairing II) Kinetochore

C) Chromosomal clustering at opposite III) Anaphase-1I
spindle poles

D) Disc shaped part of centromere IV) Synapsis

Sol DT BEDGIG:

DEE - T He3E - 11
A)  DePBoD §arFSne SEINEIToN ) eoehgesd
B) §ar¥snen s o8y ) 3866
S0BDEE
C) §arFine Drdrn eddne )  SoSes-1
Solal )P o SrGoEeon
D)  RoFnoh6s R ¥ Sold ersdan IV)  &ueghooryeio

The correct match 1s:
s K}E}cgup‘é 23¢9

Options :



A B & D

I I1I I IV
] ®
A B C D
III IV I II
2. ¢
A B C D
II1 I v IT
3. %
A B C D
II I IV I1I
4, %

Question Number : 18 Question Id : 1056152098 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In which of the following plant materials. polyarch condition of xylem can be observed
m a transverse section?

oA £ o W iy =
e 506y o) B0E), CIE) &S GS a0 PBPEE VSMIL P8I EADO?

Options :



Monocotyledonous stem

it o, v
o) 8859 2e Polio

1. %
Monocotyledonous root
DJECHereles S0

2.
Dicotyledonous stem
& éﬂﬁ*ﬁﬁﬁ SP0le0

3. %
Dicotyledonous root
AIAREN AN oY

4. %

Question Number : 19 Question Id : 1056152099 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
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Assertion (A) : The growth of cultivated crops is good in mesophytic condition.

Reason (R) : An unbalanced condition of water and gases exists in soil where
water 1s abundant or scarce.

QBYSB80 (A) : Dol IO DALY ATFHYR DOPBOS e°(otied.

Ogo (R) OB 8055 OF OB &:5) ), 0SS S50 SBAK0 FONDHL SIS
DO &otod.

The correct option among the following 1s:

&2 S0l DQYTOS HOGNIR:

Options :
(A) 1s true. (R) 1s true and (R) 1s the correct explanation for (A)

(A) 855050, (R) 9585 S0 (A) & (R) DO Des

1. ®

(A) 1s true. (R) 1s true but (R) 1s not the correct explanation for (A)

(A) 855550, (R) D935 9008 (A) § (R) HOGLS DS8es ¢
2.

(A) 1s true but (R) 1s false

(A) 855550, SR (R) 9580



(A) 1s false but (R) 1s true

() e, 7O (R) v
4.

Question Number : 20 Question Id : 1056152100 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Assertion (A) : Xerophytes possess modified plant organs to minimize water loss due
to transpiration.

Reason (R) : Plants that grow under water deficit conditions develop fleshy plant parts
and reduced leaves.

DSBS (A) : DEO By e 2T YD Yo SO €3 SYTPRD SADE DR SraPotsSo
SRITATS 5&35& grrren $O0 aoéirol.
=0eie (R) D BUPEPS DOPMLT ON I en G030 dwdy ETPOD OO

2300 HTPOD SYQOERPOW.

The correct option among the following is:

o o,

S So8 DWHFUS VOGR!

Options :



(A) 1s true. (R) 1s true and (R) 1s the correct explanation for (A)

(A) D55, (R) 0e8gai0 OG0 (A) § (R) OGRS 563

1. v
(A) 1s true. (R) 1s true but (R) 1s not the correct explanation for (A)
(A) DBgadw, (R) 0Sgan o (A) § (R) 0000 Db s
2. %
(A) 1s true but (R) 1s false
(A) DBz, =R (R) 3Sgw
3% :
(A) 1s false but (R) 1s true
(A) 8383w, 5 (R) dBgdw
4. %

Question Number : 21 Question Id : 1056152101 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Match the following lists:

List I List —II
A) NADP I)  Prosthetic group 1)
B) Peroxidase II) Coenzyme 11)
) G III) Cofactor 111)
D) Zn IV) Noncompetitive  1v)
inhibitor

S Sold DQEUD BOVGDG!

&8 I 2E)E I
A) NADP D) s dadnarale 1)
B) 0°8\Gm II)  HrdsSEsy ii)
C) Cu ) Hersdse iii)
D) Zn IV) FPEIEDACE5e  1v)

The correct match 1s:
25 K}écgacé e

Options :

List —IIT

Enzyme’s globular structure
changes

Bonds with enzyme and substrate

Transient association with
apoenzyme

Tightly bound to apoenzyme

063 —I1I
WIRBDO (e BGeS 80y
DEBO0ES* OO LY HTPoes”
2000500l
OF)IBS” Ty O¥ Dozdolio
OFIIBS” SYol™
200889000l



IT, 111 Liv IV,i It

1. ¢
A B O D
IL,mi ILiu IV, iv L1
2. %
A B i D
I1. 111 Liv IIL. 11 IV.1
3. %
A B 8 D
IIL. i1 Liv V.1 IL. 111
4. %

Question Number : 22 Question Id : 1056152102 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
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Which of the following events occur during release of O2 while synthesizing (CHEO]15
in green plants?

A) Disassociation of H,O in the lumen of thylakoid.

B) O, isreleased in association with PSIL.

C) PSII is associated with water to release electrons.
D) A coenzyme 1s reduced in association with photosystem I

2839 A e (CH,0), S05708" 02 SEEBO0NSDE S o6 &) Doatasen s8050?
A) puTonG wI3ES H,0 SGS&Eued.
B) PSI Q) 3re Dedotioed” 0, Dédoedned.
C) ees” PSII 0Q) 3red Dotolio SO sdUFIad ESLHTPO,
D) 570 dgad I Q) &rd Notletioed” sl DirseY cduEa S00E00 Dottiod.

The correct answer 1s :

O VOGN DdTErde!
Options :

A.B. C only

A.B, C S8

1. ®



B. C only

B. C g5
2. % =
C. D only
C. D oSoegsedd
3.¢ =
A.B. D only
A, B, D Srg
4. %

Question Number : 23 Question Id : 1056152103 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



How several molecules of ATP are generated during photosynthesis?

A) Due to conformation changes that occur in Fg particle of ATPase through
diffusion of protons.

B) By the movement of protons to stroma through the transmembrane channel
of F1 of ATPase.

C) By breakdown of proton gradient.

D) By the organization of ATPase when Fg of ATPase is embedded in the flattened
membrane sacs of chloroplast.

§c:$saﬁc65“mcfmfﬁ§p:‘af_‘? 3% ATP ©950eHen o) DolP &89 2R S0eHE0NT

A) Péred D00EeS” ATPase &0 Fo Saedees @9-8rrdaid airdny edcitle S

B) ATPase Giwgy F1 $530roll oSS GPg0° @508 SPéry SGOE e,

C) Fery D6 DRy Ll SO,

D) ir0S0e0e)H S’ ShPe SgdcinG Srud aankd ATPase &) s, ATPase &'
Fo GlooEy. Dedtrde SO,

The correct answer 1s :

IARVSIONWINRSIN AN TN

Options :

1.

®

A. B only

A, B &g



B. C only

B. C &orghad
2. % =

A.D only

A.D S
3. %

C. D only

C. D 5oegsad
4.9 =

Question Number : 24 Question Id : 1056152104 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

How many ATP and NADPH molecules are required for fixation of 12 CO2
molecules through Calvin cycle respectively?

3@5(5 SW0%e Trgo” 12 CO2 ®ead)en %’_D?’.in §E5 Sdoare l:s:'c{':";L ATP doinw NADPH
LD EN BWedwlo ?

Options :



18, 12

2. %

30, 24
3. %

36. 20
4. %

Question Number : 25 Question Id : 1056152105 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
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Correct Marks : 1 Wrong Marks : 0



Assertion (A) @ In C4plants. photorespiration does not occur.
Reason (R) : It is due to a mechanism that increases the CO2 concentration at the

RuBisCo site in the mesophyll cells. which ensures that the RuBisCo
functions predominantly as an oxygenase.

0BYBS 50 (A) = Tod Fg0ioh Cy IO 22805,

=0t {R} . gjg“ofﬁiﬁ 53&""5';?'5 RuBisCo g"ﬁjﬂ &5(.? CO2 ﬁ“’oé@nﬁ} o Dﬁ&“o%gﬂ 8ol
RuBisCo 2ardelP @8 )23&P 0Dmol.

The correct option among the following is:

&3 S0l DTS OGS

Options :
(A) 1s true. (R) 1s true and (R) 1s the correct explanation for (A)

(A) 09550, (R) $¢55a50 50050 (A) § (R) DO 25083

(A) 1s true. (R) 1s true but (R) 1s not the correct explanation for (A)

(A) 9550, (R) D955 @00 (A) § (R) DO D888 T
2. %



(A) 1s true but (R) 1s false

(A) 0950, PO (R) X980

(4]

3.¢

(A) 1s false but (R) 1s true

(A) 05, P (R) DBg

4, %

Question Number : 26 Question Id : 1056152106 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What 1s the ratio of total ATP molecules formed to net ATP molecules in oxidation of
a glucose molecule through glycolytic pathway?

Efgé&ﬁ K780 TryO° W (RS0 WEe) @8I0t el Qﬂ;@ S ATP evtwedhen
000k D¥8 ATP ete)o abddy S oJo€9?

Options :

Zzd
1.



Question Number : 27 Question Id : 1056152107 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Assertion (A) : Complex V consists of two major components F1 and Fo. which are
useful to the production of ATP.

Reason (R) : The Fpis a peripheral membrane protein and Fi is integral membrane
protein complex forms a channel.

BB 50 (A) : Do V Joth Totly 0P @abantoseen Fi <o0oin Fo &odrow. 0 ATP
RoFnes DrabdEEaw.

=eie (R) : Fo gticin Sguio &00S0ES" Gole FEID a00in F1 9030 o S0d
ol 'E’:‘)fof;)@ Ef{fén% VMQ;%?:-EQ{'F @053 €Al &}{5&&)@)&&).

The correct option among the following is:

&3 S0l DD YTOS DOGNIE:

o

Options :



(A) 1s true. (R) 1s true and (R) 1s the correct explanation for (A)

(A) $g8%, (R) D550 SO0 (A) & (R) KOS 868

1. %
(A) 1s true. (R) 1s true but (R) 1s not the correct explanation for (A)
(A) OBgadn, (R) 0Sgan ©ond (A) § (R) 000 Db st
2. %
(A) 1s true but (R) 1s false
(A) 3Bz, =°A (R) 03Sgasw
3.¢
(A) 1s false but (R) 1s true
(A) ©3Sg8w, A (R) dBgasw
4.%
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In which form the proteins and fats are utilized into the respiratory pathway?

A) Proteins after deamination. as amino acids

B) Fats into fatty acids and glycerol

B Fatty acids as acetyl CoA

D) Glycerol converted into phosphoglyceraldehyde
E) Dihydroxyacetone as glyceraldehyde. 3 -phosphate

FOFOU D0t FEID, SHILN 0 ErDetS” DACIPAeS2IEEPC0?
A) Feiof GOTDINN oSS BT eTPLITP Sr0S Soey

B) SN §Tad g Gadorew, QRTPOTT DDN) 0 DeT oW
C) §ad] wagoren, ®VEQS CoA P rdd Soryd
D) ARTPES, P NIVTORPEP 2i3°0niand
E) GarGeS AT R, QROPOErE, 3 -PR) e
Options :
A.B.C only
A. B, C g
1.
A.C.D only
A, C, D S

2.¢



A.C.E only

A C, E aorghad

3. %
B.D. E only
B.D. E SrS
4. %
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Correct Marks : 1 Wrong Marks : 0



Match the following lists:
List-I List-II

A) Delay in nutrient mobilization I) Abscisic acid
B) Promoting root hair formation II) GA3
C) Antagonistic to GAs III) Ethylene

D) Derivatives of terpenes IV) Cytokinins

0l DEITLD BBNGNeG:
DEE-T DEE-1I
A)  FIFo Srmrah soog O6chey I) @235 eaio
B) reddo ¢soirbR 20Dl II) GA;

C) GA O JESgTOP 11) VO
D) &6 S0 ey Y IV) DLW

The correct match 1s:
26 ;’J&:;_gjp‘é g3¢% :
Options :

A B & D
111 I IT v



A B C D

IV I11 I II
2.9

A B C D

IT I1I I IV
3. %

A B C D

IV I II I1I
4, %

Question Number : 30 Question Id : 1056152110 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Identify the correct statements regarding Mendelian genetics from the following.

A)
B)
C)
D)

F1 always resembled either of the parents.

Recessive character is expressed in heterozygous state.

Genes coding for a pair of contrasting characters are called alleles.

The alleles of the parental pair freely separate from each other during
gametogenesis.

800 TS DEIADS g FP9E HotoBed KOS FBWD (BcSob.

A)  F1 QuyEr o ¥ s58880s FO doiood.
B) 9o L&t0 Dbl E VBS" Jg¥o @ab.
) 28 B QY VIEPOI VoSBT DWW B3P O3 DU Yo Bolrd.
D)  RQodirtide e 20NN BIEBTS R oy DEr Yo Wl ok TEE
RS GoCe T JOaHT 0.
Options :
A.B. C only
A.B. C g
1. %
B.C.D only
B. C. D Jrgd
2. %



A.B.D only

A.B.D Srgd®

A.C.D only

A.C.D Srg®

Question Number : 31 Question Id : 1056152111 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which type of mutation in DNA responsible for sickle cell anaemia?
2SS DAL TeSedE DNA ¢ 2207 o) S5 &9 105G7re0 w°8ta0?
Options :

frame shift mutation

=

Do — 22 &B3058Se



point mutation

Wt &L 0dGJe
2.
chromosomal aberrations
§arFrais ©didy
3. %
gene duplication
2edog & sf’m&ﬁéﬁo
4. %

Question Number : 32 Question Id : 1056152112 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Why RNA viruses mutate at faster rate than DNA viruses?
RNA J63e0 DNA J8D §7°) oot e57odEmP 0058Se Delomow?

Options :

Presence of complementary strand in RNA

RNA €5 Doa)Pds P Golitio a9
1. ®



Absence of complementary strand in DNA

DNA &5 Qoayrd¥ aFS O8Fdtio oSeas

2. %
Presence of 2'—OH group in each nucleotide of DNA
2S DNA rgdair&&e” 2'—O0H Jdwmrole Gotidy e
3. %
Catalytic function of RNA
ENA %é&ﬁ@gnw &olity S
4.
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Match the following lists :

A)
B)
0

D)

List-I
E. coli has
Diploid human cell has
DNA dependent RNA polymerase
catalyse in
The continuous replication 1s with

Sold DU SHGWG:

A)
B)
0)

D)

¢8-I
E. coli § 98 &od
SIS 3 OASE Sto” &)
DNA o5°0¢% RNA wrddobes
&30S0 Gl
OV DALY WDV o F
23001530

The correct match 1s:

28 F.}Erc:gar‘é 2369:

Options :

A
III

1.v

D
1)
I1T)

IV)

I)
IT)
I1T)

V)

List-II
6.6 x 10° bp
3'—5"polarity
4.6 X106 bp

5'=3" direction

DESE-1I
6.6 X 10° bp
, @5&&%0
4.6 X106 bp
5'-3 a¥s



II1 IV II I
2. %

A B E D

II I IV I
3. %

A B C D

1 II1 H IV
4. %

Question Number : 34 Question Id : 1056152114 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In a homopolymer of uracil chain of m RNA. after 14™ nucleotide a cytosine nucleotide
was added. What will be the change in amino acid sequence?

AKTPRS (Tewkn ahS) 28 m RNA FFSrardinbe, 1485 Srgdoirds Sursed RESVS

P 5 SPEIELD 2365 D00 S0 VS’ BAPL Tkt STy Sy e ?

Options :



No change

WITPG0 Yy Golidd
1.
Leucine will be coded
2. %
Serine will be coded
0n §°G DoDeudiock
3. %
Methionine will be coded
DOAFIS §'& SoHeaos
4.%

Question Number : 35 Question Id : 1056152115 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Match the following lists:
List —I List —IIT

A) Refroviruses I) A type of cloning vector

T ™" 1 a1 Il TTH TT 1 a F i~



B) L1sarmed patogen Vector 11) LSS0 TO Transier genes 1o

animals
C) Cosmuds II) Used to transfer genes to plants
D) Colony hybridisation IV) Small specific gene probe

+radioactive molecule

V) Used in gene- gun method

S $old DEEUD BSIGUE !

D8 1 DEE —II
A) O ISR I) %8 O50S ardrdo
B) FOEONI I SOICHTO 1)  20adHSDE saddgedund wdd
raro RISVIALLE=Te Vol leb)
C) SEOT-0V ) [OOSR wdgedUs QO
DORErRS eDArOrdy
D) med TREBID IV) Od) D39 2aogdfed + SGawr
wr0y 8 W)

V) #@0-00 D@8 &dlrHipdd

The correct match 1s:

8o 00 &B:

Options :



v Vv I 111
1. =

A B C D

ITI V I IV
2. %

A B & D

I IV II V
3. =

A B C D

II A% I IV
4.9
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Which of the following statements are true regarding cloning vectors?

A)
B)

o)
D)

PUC 19 1s a natural plasmid.

Doubling of an alien piece of DNA can be made by inserting it in a plasmid
DNA.

DNA of a bacteriophage cannot be used as a cloning vector.

Bacteriophages can replicate within the bacterial cells.

5ol PITFOR NoteBod ol o) TFWILN VOTLSD?

A)  PUC 19 a8 dire &,
B) & 20D DNA 206w ®) a8 236 DNA & S0 9o S0y,
C) wr$00Irares Ay DNA 0 §'0e0) PirSor™ &adirfodSaln.
D) FPEOCrrRw er§000S Sl DK Doliiivad.
Options :
A. B only
A, B S
1. %
A.D only
A. D S
2. %



A. C only

A, C drgad
3. %

B. D only

B. D a5ege
4. <

Question Number : 37 Question Id : 1056152117 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Assertion (A): The ampicillin resistant gene is a selectable marker in selection of
transformed host cells.

Reason (R) : Cells without ampicillin resistant gene will die on agar plates containing
ampicillin.

D2)BBD (A) : DOSGSo oS WSBOW PO SBeitS’ BeDVOS EEE B Dod

LKA o508, 6.
s&ese (R) ;oD AGEE Badged) O Siren Bod DN ¥ &) errd airdto
LWDFTTO.

The correct option among the following is:

&2 S0l mﬁgs“re_af_‘? OCISE:

Options :

(A) 1s true. (R) 1s true and (R) 1s the correct explanation for (A)

(A) $g8%, (R) D550 SO0 (A) & (R) KOS 868

1.

(A) 1s true. (R) 1s true but (R) 1s not the correct explanation for (A)

(A) D855, (R) 0950 @0 (A) § (R) OGRS DSe3 S5



(A) 1s true but (R) 1s false

(A) 055050, R (R) @050

3. %

(A) 1s false but (R) 1s true

(A) 808500, 2 (R) ABgaw
4.%
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Match the following lists:

List-I List-II
A) Taipei I) Bruise resistant
B) Roundup ready IT) Cotton boll worms
C) Flavr Savr IITI)  Rich in vitamin- A
D) Bt -cotton IV)  Herbicide tolerant

Sols BT BBUGDG!

DEIE-I DEE-II
A) Taipei I) POiroiy TGS
B) ToGox OG IT) STOh e L Yoren
Q) P36 D36 ) DN —A Dy
D) Bt -0 IV)  Hoyarditad Séndoctied

The correct match 1s:
OO0 8!
Options :

A B £ D

II1 v I II
1.¥



I11 I v II
2. %

A B C D

II1 IT I IV
3. %

A B C D

II I II1 IV
4, %
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Correct Marks : 1 Wrong Marks : 0



Assertion (A) : LAB grows in milk and converts into curd.

Reason (R) : LAB produce antibiotics that coagulate and digest the milk proteins
also.

QBBS0 (A) : LAB arod’ 200, AR 8Mrr Joedopo.

50eso (R) : LAB $0 Q0arsP0r0 &8 S PO (G «35eGudro «000iw
Fedehd -G s WO,

The correct option among the following 1s:

&2 $o0 BQYTOS VOGR!

Options :
(A) 1s true. (R) 1s true and (R) 1s the correct explanation for (A)

(A) 0580, (R) 9550 SHO0W (A) & (R) OGS 9588

(A) 1s true. (R) 1s true but (R) 1s not the correct explanation for (A)

(A) He93a50, (R) 095ai0 @O (A) & (R) OGS D63 T



(A) 1s true but (R) 1s false

(A) He5ga50, R (R) ©90500

(A) 1s false but (R) 1s true

(A) 05, P (R) D580

Question Number : 40 Question Id : 1056152120 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Identify the correct combination from the following:

&e 500 ¢3S 00 Suowk (10 TPAR (10oinein:

Options :
Nostoc Autotrophic Fixes atmosphericN2
J‘?"E :J&Dfdo Faslo PEIP RGeS D N2 @ @ﬂﬁ@@oaﬁ

1.v



Increases plant growth

Glomus Free living
Qﬁﬁl ) D3P 2D JanEy, RONEL &Jb\]&é
Deold
2. %
Azotobacter Symbiont Biofertilizer
@2 e i EINY V)
3. %
Facilitates ‘P’
Oscillatoria Symbiont absorption by plants
@S Eale e w8y IS P FRnd
[y
Qe §O el
4. %
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Section Id : 10561545
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Section Marks : 40

Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
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Sub-Section Id : 10561545
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 1056152121 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Rearing of honey bees 1s

A3 Dodo

Options :
Sericulture
20Ee :]5

1. %

Vermiculture

=5 E
o.:O@gUQU

Aquaculture

F:S‘S“n%&.ﬁﬁ



Apiculture
NS Q@_

4. ¢

Question Number : 42 Question Id : 1056152122 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Assertion (A) : Species 1s dynamic.

Reason (R) : Species are in a continuous process of adapting to the conditions of their
surrounding environments.

D3NGB0 (A) @ &S ¥ID (IBBV PdIeso.

5o0eaaiw (R) ;2P 2ot aPdd DONTPLED @MEIT RGeS lo BLErLTEOM
SFolVEAP GoldIPOw.

The correct option among the following 1s
&2 S0l DQYTOE DOARSL
Options :
(A) 1s true. (R) 1s true and (R) 1s the correct explanation for (A)

(A) DB5a50, (R) D5 000K (A) § (R) OGS D56es
1.



(A) 1s true. (R) 1s true but (R) 1s not the correct explanation for (A)

(A) 985050, (R) 0835850 ©00S (A) § (R) 0OGHS D63 5

2. %

(A) 1s true but (R) 1s false

(A) D855350, T (R) 0885050
3. %

(A) 1s false but (R) 1s true

(A) @i8gdw., 3 (R) ndgadn
4. %
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Match the following :

List -1
A) Species diversity
B) Genetic diversity
C) Broadly utilitarian
D) Narrowly utilitarian
E) Over- exploitation
S0l eI BBIGIG ¢
o -1

A) o IDGge

B) &g Jddge

C) YL &AIPHT PO
D) 00N &APOHE® 2
E) Sd8iw o9 AT ie

The correct match i1s

I)

I11)
V)

V)

List -II

Pollination

Passenger pigeon

Amphibian diversity in western ghats

Medicinal plants

Advantage for survival

I)
I)
I11)
V)

S -II
2T Doty o
P00 Padbo
230 SIS’ 3ol &aloild Jddse
EAFSTARNWES RN

EINY RNV T VE S LA ALV H



Vv III I IV II
1. %

A B C D E

III Vv IV I II
2. %

A B C D E

Vv 111 IV I II
3. %

A B 0 D E

111 V I IV I
4.9
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Correct Marks : 1 Wrong Marks : 0

The symmetry of durelia is
e@8dalres” FQde

Options :



Spherical

[Iii cTDED{::J
1. %
Radial
TPgPQ
2. ¢ }
Biradial
& 5@&?{2
3. %
Bilateral
& 5?.1“&; S
4. %
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Study the following statements and pick up the incorrect statements.

I) The animals with radial symmetry are sessile, planktonic or sluggish.

II) Platyhelminths are acoelomates.

III) Persistent blastocoel becomes coelom in coelomates.

IV) Molluscs are enterocoelomates.

§od} 90Tl fﬁfﬁ%dﬁ)rﬁu WD POFR TR (Woiols.

I) PgPrd FRde dgfe DRV Roa)Hen PRSP Sy Girde™ SO @l TR,
QSFOUT (P OF TP PR &olT0N.

IT) rédardyeden 400 Soird Sird eapen.

IIT) 0ODFN0S Do0ln§ 2z Hir0f UGS 2 08 H0irSerP Srrlutiol.

IV) S0000pen e3oB303 50578 sladen.

Options :
L. IIT only

e L 11T S$eSado
II. IV only
II. IV oSegSad

2.

-



L. IT only

3. %
III. IV only
10, IV S
4. &
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Match the following :

Leucocyte
A) Eosinophils
B) Monocytes
C) Basophils
D) Lymphocytes

S0l eI BBDGWDG
20 Stdo

A) g deSew

B) JOrddp

C) ¥Fpsen

D) Sordégw

The correct match 1s
O &2

Options :

Number
I) 5.3 %
IT) 30%
I1I) 2.3%
IV) 62%
V) 0.4%
oSG
I) 5.3%
1) 30%
) 2.3%
IV) 62%
V) 0.4%



I11 I IV II
1. %
A B & D
I AY III I
2. %
A B E D
IV I II I1I
3. %
A B & D
II1 I Vv II
4.9
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Study the following statements regarding nervous tissue. Identify the correct
statements:

I) Oligodendrocytes form neurilemma around axons in central nervous system.
IT) Microglial cells are phagocytic cells.

ITI) Astrocytes bind neurons with muscles.

IV) Ependymal cells line the cavities of brain.

oG SnerUo (000 0l WL BUgI DN,

I) 2G oGRS SePe Sol 976 Sg0es" (0 SoBoTre) L& S gBONI Y & o8 ) E0Po.
IT) 0§ QoS Seren 23&E Serew.

IT) 5379085y PG SErdld $oliDrees” 20oQPow.

IV) oJ20GeineS $oren S0’ Folroruny 0ol &olPow.
Choose the correct option from the following:

&2 $ol DQYFOS” HOGNS AV (oot

Options :
L. IIT only

I, T &$orghsdo



II. IIT only

IL, IIT &Soegsa

2. %

II1. IV only

ML IV &Srgseld
3. %

IL. IV only

IL IV &gl
4.
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Read the following statements and find out incorrect ones.

I) Larvae of sponges morphologically different from adults.

IT) Comb plates help in locomotion and food collection.

IIT) Adamsia is sessile and cylindrical form.

IV) Hvdra exhibits polymorphism.

S S0l TPgRZL WA NOTR TR (Qoayei.

I) K};}nﬁéﬂ RNV rﬁu“}‘{jJ" 2 wOolP Eﬂ.’; oD 8ol Earf}iﬂ &olIP0N.
IT) 8o5°578 PUsPeL (aoars, GfE VEOCHE cLAiriindarow.

I1I) q.)mnﬂ}n}aiﬂg"éwig, PSS e,

IV) ar@e 20aT0 Srofdad 00008,

Options :

1.

2.

®

®

L II only

I 1T &Somg5s%

I1. IIT only

IL, TII &S



L. IIT only

I IIT S5

IL. IV only

IL IV &5

Question Number : 49 Question Id : 1056152129 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
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Correct Marks : 1 Wrong Marks : 0

Study the following statements and pick up the incorrect one.
S0l WU BWEFIEN DV VOFD WA (Qeudol.

Options :
Primary function of flame cells of flat worms 1s osmoregulation

L

DBY Y e R S PENE DO Kb §5

L

NP
o~
1. %



Amphids are the sense organs of round worms

oGO0 (oGl QBUIVL FPT e PLD

2. %
Body cavity of hirudineans 1s filled with botryoidal tissue
TGN B Hoide 88 ErandS Snerved” Dok Gotol.

3. &
In Pheretima blood glands are present in 6™, 7% and 8™ segments
DOEID® T8y, 65, Ta, 85 oGS G§lioduen &obrrow

4. ¢

Question Number : 50 Question Id : 1056152130 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
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The stomach of the animals of this class contains a crystalline style
&1 Qe oD EEQ“%O&JD@E E:J;.,Lﬁg Soleo Gotlod.

Options :



Scaphopoda

o AT
1. %
Pelecypoda
NOVFE"
2.
Cephalopoda
RS T
3. %
Gastropoda
PR
4, &%
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Assertion (A) : In adult ascidians notochord 1s absent.

Reason (R) : Retrogressive metamorphosis.
D3)BB 0 (A) 1 TG VGRS DY dodo Godich.
50eaaw (R) : G P Srodgol.
The correct option among the following is:
&8 S0l DOYTOS DOANSO
Options :
(A) 1s true. (R) 1s true and (R) 1s the correct explanation for (A)
(A) JBgasw, (R) 0gain <dain (A) § (R) S0GLS DaddEs
1.
(A) 1s true. (R) 1s true but (R) is not the correct explanation for (A)

(A) D950, (R) 095050 00 (A) § (R) HOGLS DS e

(A) 1s true but (R) 1s false

(A) D550, T (R) S350
3. %



(A) 1s false but (R) is true

(A) 80Sgew, 520 (R) 00
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Study the following and pick up the correct combinations.

S.No Scientific name Common Character
Name
I) Hippocampiis Sea horse Female has a brood pouch
II) Trigon Sting ray Possesses poison sting
I1T) Torpedo Electric ray Ventral muscles modified
mnto electric organs
IV) Exocoetius Flying fish Contains air bladder

800 TPV L3N B, VOS VDKL Bosol.

3. o %"—"?j? 0% ~TPelde ﬁ“nﬁ)’“rﬁg EULINT &0
D &rysedd 0e50¢5 ot £9 289 BfPea §'3PQ) $O0 dotwodd
II) u@i’)"nﬁ ?goﬁ o Dadad) ol 8OO colich
M) drgy& DegS T &5 57°0% ol Sy Dold DS
S00TPLNTP S GEPow
IV) a).éfjrf)d).f) o0 DD OS50 §¥0 Soted
Options :
L1
1. %
I, IV

2.



I I

IIIL, IV
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Given below are the statements regarding frog. Choose the correct statements.

A) Frog 1s a carnivore. so the length of alimentary canal is short.

B) Frog never drinks water but absorbs through skin.

C) The ureters of frog also act as genital ducts.

D) Frog 1s uricotelic animal.

= go'f) E S IAS 55:;!;-,??-.} ooBolladid. Vﬂﬁ@drﬁ LAY 50 Sﬁﬂa?ﬂl (0Oodots.
A) 52y dPorsr®0, S8 0o FEIP Golled.

B) £ €3 odi) > (5, WO 0 TR (18P,

C) E0)80 rQ Trveen, B TeTELTP §5GT DRUPOw.

D) £y 00088 I8 22080

Options :



A. B. C only

A. B, C S5

1. ¢
A. B only
A, B S35
2.
A.B.D only
A, B.D Srgd
3. %
ABCD
4.%

Note: For this question, ambiguity is found in question/answer. Candidate will get full marks for this question if any of the correct options
are chosen.
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Organism “A” lives as a parasite in the body of an organism “B”. “C” 1s another
organism lives as a parasite in the body of “A”. Then C is

A 93 2) B 93 #0S H0PY) 2ado (160i)@0ol. C &3 Hof” 25 A 93 28 DTS o
1ok, oW, C A & AP RV yotrd.
Options :

Ectoparasite

TP e ;JDT’c{ﬁiBi@
(]

1. %
Digenetic parasite
L3ESDOWN T i)
2. %
Hyperparasite
©OIT°) wd
3.¢
Commensal
ares g8
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Transformation of merozoites of Plasmodium into gametocytes takes place when the
erythrocytes are in

JGEEEEPLD & oS GoliP PF@Ale 8y NTBEL DoCIrt e e yFenre

o

P GTEPON.
Options :
Liver
O0Le
1. #
Kidney
Hy By L
oﬁlﬁ“& oJoleo
2. %
Bone marrow
PUINVEINAES
3. ¢
Lymph
3 aalie
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Larvae of Ascaris undergo second moulting in
&?.3“&@(5 QoY GeoldsPen Oolicd G &xﬁcﬁc 2ol &t
Options :
Inside the egg

(e S

1. %

Alveoli of lungs of man

Srded G0SL TrOkD §FG
2.

Intestine of man

ST S

et



Inside the uterus of parent

&.‘ﬁ”@g%ﬂ iﬁﬁ“g%{mufﬁi
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Haemophilus influenzae causes this disease in human beings

SrSeDSAS” DA IFDOD FDaDAVed &Y SO0 =gd

Options
Pneumonia
gAY
1. ¢

Commeon cold

PO 230020

Ring worm

ELryile]
3. %



Typhoid

PG
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Choose the incorrect statement with reference to the given chemical structure.

2 $00 BFADS VTP VS Doodod NOFR g5 (10BoxSes.

Options :
Its acetylated form 1s called smack

&R DVOEE Srard) P8 @obrdo



It 1s in whate crystalline powder

38 BeR) LEE F& Sred” Led

2. %

Its receptors present in cardiovascular system

QR Parseen 88 0008 S50 Gobron
3.¢

It 1s a very effective sedative and pain killer

B[O TP De0PDe6D00 a0 ell 00K EPQ el &Yalde SN
4. %
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Oriented locomotor movements of an organism towards or away from the direction of
light 1s called

570 0rDPRS e S d3B0E OIS e QNTPETR) B 2T 3 0tr.

Options :



Phototaxis

SPoe3eIdUndo
1.¥

Photo kinesis

023 eddndo
2. %

Phototropism

E"’u@@ﬁ}c‘é{}{ju
3. %

Photoperiodism

Ll DAY
4. %
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If four individuals in a laboratory population of 40 fruit flies died during a specified
time 1nterval. say a week. the death rate in the population during that period
(individuals/per fruit fly /week)

2§ POFITOS R 40 Dok S0 BTPEPS R 4 S 2l P8 FLS o 0lnE o)
TPU°S ol SaiL EPL T (0P8, 08 Saliso)
Options :
0.4
1. %
0.1
2.
10
3. %
25
4. %
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Assertion (A) : Larynx 1s a bony box which helps in sound production.
Reason (R) : It contains vocal cords.

QBYBBa0 (A) 1 P30 &GS VFODDE YT D36 WedL.
Geain (R) : QS 030 Sohen Gobrrown.

The correct option among the following 1s
&2 S0l DQYTOG HOGVIA
Options :

(A) 1s true. (R) 1s true and (R) 1s the correct explanation for (A)

(A) D58, (R) D350 00K (A) & (R) DO D53

(A) 1s true. (R) 1s true but (R) 1s not the correct explanation for (A)

(A) D550, (R) 093050 008 (A) § (R) HOALS DSGEs e

(A) 1s true but (R) 1s false

(A) D535, PR (R) ©09ga5w



(A) 1s false but (R) 1s true

(A) 3Bz, 522 (R) 0Sgaio
4.
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Study the following statements.

I) The role of oxygen in the regulation of respiratory rhythm is quite significant.

II) Receptors associated with aortic arch can recognize changes in CO» & H™
concentration.

IIT) Decrease in concentration of O2 cannot activate chemo sensitive area.

IV) Chemo sensitive area is located near hypothalamus.

$0b BTN @G0T WoDk.

) 3000l QoleDns edyzediv Prudnag® Gob.

IT) S0P TPDe R Ho Parsren CO2. H ©90irQw rPEdeS 300 JSrdo s (odpow.
IIT) O P& SNt SPai g FPoo Soirdode dich.

IV) &30leS g oo TraPierrsidn dd0Ded &otiod.

Identify the correct statements from the above.
D ©oPUE DO TPEID (LWQodok.

Options :

L II only

L 1T &g



I1. IIT only

IL, IIT 509

2.
II1. TV only
IIL IV S5
3. %
I IV only
LIV SrSd
4. %
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The step-2 during blood clotting is:

Options :



Conversion of inactive prothrombin into active thrombin

SOTERRS FEPeRS SOITEL eI STP SrBdo

c

1.
Conversion of mactive thrombin to active prothrombin
Sirdire grotdn §05I°30 FEPorlT JSIrGetde

2. %
Conversion of soluble fibrin into soluble fibrinogen
500 e $00 PSR arrdtoo

3. %
Conversion of soluble fibrinogen into soluble fibrin
500 225" 500 REQTP arrdiduo

4. %

Question Number : 64 Question Id : 1056152144 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Assertion (A) : The wall of left ventricle 1s thinner than that of right ventricle.
Reason (R) : Right ventricle pumps the blood to lungs.
QB)SBa0 (A) : oIeiad 2808 (Tden Ho6 2608 (' Eo0) DLV Gobrow.
seGesain (R) 1 §0G 2808 &0SELOH ST Do) Dol
The correct option among the following is
&2 S0l YTOS DOANSH
Options :
(A) 1s true. (R) 1s true and (R) 1s the correct explanation for (A)

(A) 855050, (R) D558 00K (A) § (R) 0O D5k

(A) 1s true. (R) 1s true but (R) 1s not the correct explanation for (A)
(A) Dgaw, (R) 0dhgain ©ond (A) § (R) 20G0S Dddes 3¢

2. %
(A) 1s true but (R) is false

(A) H855050, O (R) 6885050



(A) 1s false but (R) is true
(A) 3850w, = (R) 0Sgaw

4. ¢

Question Number : 65 Question Id : 1056152145 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
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Correct Marks : 1 Wrong Marks : 0

Inner wall of Bowman’s capsule of nephron of human kidney is formed by

INV LN mg&oc‘éoeﬁ‘ﬂ 55 RedTEr0 CIVEY, 2T 00w (DE S0 Sodigo S Yereres”
DS EBB.
Options :

Cuboidal cells without brush boarders

oW Yok OR awrsey Soarew
1. ®

Cuboidal cells with brush boarders

Soow Woul 0 awesed SEren



Podocytes

P Seeew
3. ¢
Endothelial cells
0S50 Sgren
4. %

Question Number : 66 Question Id : 1056152146 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Assertion (A) : Juxta glomerular cells release an enzyme called renin.
Reason (R) : Fall in glomerular blood pressure.
DBYSBHIIW (A) : a6y FOURE Sren SR @ aJoBaload VOFow.
8esas0 (R) ;59 P98 (hdyoS OF Déindo Siicue.
The correct option among the following is
&2 5ol DDYTOS DOTNSH

Options :



(A) 1s true, (R) 1s true and (R) 1s the correct explanation for (A)

(A) 5895550, (R) D858 00K (A) & (R) DO DeSe3

1.
(A) 1s true. (R) 1s true but (R) 1s not the correct explanation for (A)
(A) DSgaiw, (R) DBgain ©ond (A) § (R) 00 DS 26
2. %
(A) is true but (R) 1s false
(A) A8gaw. 2 (R) 00dSgaiw
3. %
(A) 1s false but (R) 1s true
(A) 385w, 3 (R) OSgaiw
4.%
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Cori cycle occurs between
§°0 oo DD adodg ssdorianedy
Options :

Liver and kidney

Oole — aﬁﬁgﬁcﬂio

1. %
Kidney and muscle
ﬁlﬁ“@gjui& — $olilo
2. %
Liver and muscle
O0e — Solilo
3. ¢
Muscle and pancreas
g@i{\jﬁ Nl gnﬂ:‘ﬂ
4.%
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Correct Marks : 1 Wrong Marks : 0

The major regions that make up brain stem include all the following. except

B2 300 aPEIE a8y 85 SEE, NOSD B SHrLosd DGYERPCW.

Options :
Pons
3053
1. ®
Medulla
aZFe0R0
2. % B
Midbrain
iﬁdﬁﬁ&tﬁﬁﬂ
3. %

Cerebellum

900 0

Question Number : 69 Question Id : 1056152149 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
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Correct Marks : 1 Wrong Marks : 0

Study the following statements and pick up the incorrect one:
go@ BWoFLndd @fﬁ%dﬁ&rﬁo wi RO @c%"@l mgoxﬁaﬁa‘.
Options :
Typical value of resting membrane potential in — 70 mV 1in a neuron

Tob BoreeS’ QTP 3o DS Prduo — 70 mV Gobuold

1. %
During resting phases. the activation gates of sodium channels are closed
DFoB S FEohe PIY gy cri)g.ﬁ'?’qﬁ [9I-SVENVURSSEEL VLo

2. %

If the voltage falls below the — 70 mV level of the resting state. it 1s called under
shoot

DT OIS S — TO MV E7°) SHS PAD @0l Dred Wobrdd



Speed of conduction of nerve impulse inversely proportional to the diameter of
the nerve fibre

oG %S &3l xwﬁt"':) oilio PG oo a_ﬁgﬁ“rﬁg eSS eoaredeS Golliodd
4.
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Match the following:

List-I
A) Prolactin
B) Oxytocin
C) Parathormone

D) Thymosin

go@ P8R 2309000k

NToTORR |
A) Feorfa
B) @8)&A
C) roedye
D) 23S

The correct match is
Kaég}}:ﬁ 2a€h

Options :

D
1I)
I1I)
V)
V)

D)
II)
I1I)
IV)
V)

List -II
Levels of Ca™ in circulating fluids
Enlargement of mammary glands
Stimulation of gluconeogenesis
Contraction of smooth muscles

Differentiation of lymphocytes

wOn -I1
0r0GEs Qarg’ Ca*‘*gtfoco
235 Hotow DRSO
(S’ AAF BN NODEG
adnidey) Soliore oS o
DoFRE) DESSo



Vv I IV II
], %
A B & D
II IV I V
2.
A B C D
1I / 111 vV
3. %
A B i D
I1I I 1T V
4. %
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Cretinism is due to the improper functioning of
Seiesei 520tk € (Jol/ (Joten DO DASCHEF Sk

Options :



Parathyroid glands

ERIAVNT AV TAVISY
1. % '
Adrenal glands
AN ML M £
STATVRLS I TAVSY
2. %
Pituitary gland
05w (Jod
3. %
Thyroid gland
@5t (o
4. ¢ -
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Assertion (A) : Adaptive immunity 1s more specific,
Reason (R) : It depends on prior infection of the microorganism.
DY BB0 (A) : @QB G5 AE G5 QR &obwold.
s8¢ese (R) : 90 5oBE0 Prdge S 2a)en Dofihe L STPGNG Sotlod.
The correct option among the following 1s
&2 £old DDYFTOS VOGNSR
Options :
(A) 1s true. (R) 1s true and (R) 1s the correct explanation for (A)
(A) Sgasw, (R) 0Sgain «b0ain (A) § (R) OGN Daddes
1.
(A) 1s true. (R) 1s true but (R) 1s not the correct explanation for (A)
(A) D&gai0, (R) 0Sgaim @owd (A) § (R) 0OTILS D86 5760
2. %
(A) 1s true but (R) 1s false

(A) 0550, S (R) 5850

3. %



(A) 1s false but (R) is true

(A) 8dSzan, 520 (R) Do
4. %

Question Number : 73 Question Id : 1056152153 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
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Number of interchain disulphide bonds between two heavy chains in the structure of an
antibody 1s

DB T°Y 80 Dotd) 5°8 (TLVNL iy ol FHoD Y6 20060 oS
Options :
4
1.
4
2. %
8

3. %



Question Number : 74 Question Id : 1056152154 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Assertion (A) : Secondary spermatocytes are haploid.
Reason (R) : They are formed from primary spermatocytes after meiosis L
Q3BBain (A) : QB HE ey 8 f’i;cfbf.‘f &olIPow.
seio (R) : LAY D SIS Y F0oesed EaDESEs aYes SY WD o8 )ESPa.
The correct option among the following 1s
&2 5ol DQYTOE JHOANSH
Options :
(A) 1s true. (R) 1s true and (R) 1s the correct explanation for (A)

(A) $5a50, (R) Heh3a50 s00%0 (A) & (R) OGRS D53
1L



(A) 1s true. (R) 1s true but (R) 1s not the correct explanation for (A)

(A) 855050, (R) 0855050 9008 (A) & (R) DO D5t

2. %
(A) 1s true but (R) 1s false
(A) DSgaiw. R (R) 80w
3. %
(A) 1s false but (R) is true
(A) 893Sz, 20 (R) 0Oz
4. %
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Match the following:

A)
B)
C)
D)

208 D BSHBZB -
50w -1

A) HOSE 375

B) %0

) &g

D) 58y Heew

List -1
Multiload 375
Saheli
Vault

Skin patches

The correct match is

OGS 239

Options :

I)
1)
I1T)
V)
V)

I)
1)
I1T)
IV)
V)

List -II
Oral contraceptive pill
Oestrogen
Surgical method
Barrier

Intra Uterine device

SGw -11
@ AT QY '8 v
e Foeem
30y VTR S
955G G0
(07 3OS PiSo



A B C D

\% 111 v I
1. %
A B C D
\% I v 1T
2. ¢
A B C D
T vV I \%
3. %
A B C D
I v 11 v
4, %
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If a child has blood group O. the genotypes of the parents
28 3%ad) Y 5o 0. ®OWd BYLeHL a3ddg Sraren

Options :



I:'!L I‘I—‘L, ID IU

1. =

AB 1010
2. %

I}'L ID IB ID
3.

I."JL IO I."JL IB
4. %
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Assertion (A) : Barr body is present in Turner female.
Reason (R) : Karyotype of Tumer’s syndrome 1s 45, X.
DBYBS0 (A) : €83 6 {9 w70 TePR) FID Goliol.
5t (R) 1 876 VoG WYy, §RPFINL @0E 45, X.
The correct option among the following is
& S0l E’.}wﬂg?t}fﬁﬁ QOAVIL
Options :
(A) 1s true. (R) 1s true and (R) 1s the correct explanation for (A)

(A) 55050, (R) 885050 0050 (A) & (R) 0O Des

1. %
(A) 1s true. (R) 1s true but (R) is not the correct explanation for (A)
(A) Dedgaim, (R) nSgain @ond (A) § (R) OGS Da5SEs 5760

2. %

(A) 1s true but (R) 1s false

(A) 095850, S (R) ©9:0885550



(A) 1s false but (R) 1s true
(A) ®dgdn, 2 (R) 0gadw

4. ¢
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Karyotype of a person affected from phenylketonuria (PKU) 1s

DTS NS g00ir gl O &) 958 AanEy 5°0CIrER (§ared e @@)

Options :

44 + XO
1. ®

44 + XXX
2. %

44 + XXY

3. %



44 + XY / 44 +XX
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Selective breeding of animals for a desired feature by mating them within a close
relation 1s

Q)% Ve §00 00 &S Dotvobio (90 BeHL sty 20D SOEPSY § Deddo
Options :

Out breeding

Close breeding

BB S HazSo



Line breeding

Bar Heesdo

3.¢
Cross breeding
08 DZEcdde

4. %
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Vaccines for diphtheria are
G008 & & 8%
Options :
Attenuated whole agent vaccines

T30 SEES SeiodsS VoY FAAg 8D



Inactivated whole agent vaccines

29O DoRTS SIS SO

2. %
Toxoids
eﬁsﬁhmﬁw
3.9
Recombinant vector vaccines
a)ed roodiress el ddsren
4. %
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Which of the following forces have the infinite range?

$old o) 20EPE 930S Fgad §O oHotran?

Options :
Gravitational Force, Nuclear Force and Electromagnetic Force
tho@e388a 2000, SoLOh 2o aHOOKD DHELgLALTy o 2ato

1. %

Gravitational Force and Nuclear Force only

(@ 1858 w0 <O SoQoh WL e

Nuclear Force and Electromagnetic Force only

E-oéﬁli} 2000 o000 @CSJ,S Cﬁdﬁﬁ"&o@ 2o &55"@5&



Electromagnetic Force and Gravitational Force
DEFEOITY 05 2o SOO5N (e g 808 2o SO

4. ¢
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The dimension of Planck’s constant 1s equivalent to the dimension of

P05 QT”e¥o LN QR WL VSTrSein

Options :

Coefficient of viscosity

) (S (oeadadw

Internal energy

o855 33



.{’:iﬂglllﬂl' momnieniim

§'gdoh iﬁo‘iﬁﬁﬁfm
L
3. ¢
Moment of force
200 gIPalEadn
LA
4. %
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A particle moves in a straight line with uniform acceleration and with initial velocity of
2 m/s. Its average velocity after moving for 4 s is 6 mv/s. The acceleration of the particle
1s

e 8eacin FON 2.8 Sevo UL O Jozol 2 mfs 5"Oaiticined” Soendnd) &, & Smeio
4 s ahodo S0PS TP D JiIadw 6 m/s, OWS Seso Gy Sdeie.

Options :

o W
3 m/s”
1. %

: Yes Is



2m/s
2.
£
4 m/s”
3. %
T |
1 m/s-
4. ®
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The relationship between the final velocity v and the distance x travelled by a bus

moving with uniform acceleration is v = +/256 — 10x . The acceleration of the bus is
(All quantities are given in SI units)

el Seaoed” Schendiaddy el 200y Clwdy ol 3o ¥ ook drddn x © g
Do2ollo ¥ =4f256—10x . 2oty S58e0 (92 ordhHew ST Paraud’ gR)
Options :

— 5 m/s>
1.



i P
- 10 m/s”

2. %
ey
- 20 m/s”

3. %
~ 15 m/s?

4. %
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The velocity-time(v—t) relation of a particle moving in a plane is v=3t"m/s. Att=0 ;
displacement x = 8§ m. The velocity of the particle at x =16 m is

28 Bt Fetdas) Seo TEy, Jiiasn — oSN ady Dozdetse (v—1), v=3t"m/s. t=0
o5& gﬂfﬁgo%o x =38 m. ®owd x =16 m & Stio Jthedn

Options :

12 m/s
1.¥



14 m/s

2. *

18 mv's
3. %

10 m/s
4. %
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Identical guns fire identical bullets horizontally at the same speed from the same height
above level planes. one on the Earth and another one on the Moon. Which of the
tollowing statements are “TRUE™?

I) The horizontal distance travelled by the bullet is greater for the moon

II) The flight time is less for the bullet on the Earth

IIT)  The velocities of the bullets at impact are the same.

2u5Ed Bl QL 0 OCN WITTEE Do & ) 2w O8I CUIrHIty s S8aua) EFErud
28 $GeS° DabBere Mo ad o) ol FOYTE. §ob o) DG “Reso” ?

I) PP DOIrHodd LBEVSETSI Krdaln Yot dodh 0080y

II) P o PO rdr DOIPElow FPLD Sy dd

III) @earde ¢ SAPEr oJ(1eln QeI D

Options :
III only
IIT oSorad
1. %
I and III only
I shOaln T SeSad



I and II only

I 3506050 1T S

3. ¢

IT and IIT only

IT S>008w IT &SrrSd
4. %
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An iron ball of 4 kg moving with a speed of 6 m/s makes head-on collision with another
wron ball of 6 kg moving with the speed of 2 m/s along the same line. After collisions.
if both the balls move together with the same speed. the common speed of both balls 1s

4 kg o) ¥ B 200D 6 m/s SGed” Soendr 6 kg ool 2 m/s G SR0enSoady
oOOINE Yoo 2ooeHes” a0BI 30 @Eﬁ@“@“ﬁ'}l wiol. et 580aTres Dole S0t
SO &8 dGed” SEeneel] & sotho &yl 56

Options :

3.6 nvs



2m's

2. ®

1.2 m/s
3.9

3 m's
4. %
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When the brakes are applied to two cars moving with initial velocities V and 2V and
the cars stop at distances dj and da respectively. Assuming the work done on the cars 1s

' df\ 9
the same. then the value of ratio —= 1s
1

V s00ain 2V 57O Jrroed” Shendddy Dotd 2G5 g38en IR @@ S di «dciy da
GEroPOd” ©rPow. 5°¢ aod B DA DeirPdo ©EeES, % Qa2
|

Options :



1. #

2
2. %

0.5
3. %

4
4.
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An object of mass 7 kg initially at rest explodes into two pieces A and B. The mass of
A 1s 3 kg. and the mass of B is 4 kg. After explosion. B moves with the velocity of
2 mv/s. The ratio of kinetic energy of A to kinetic energy of B is

QO°a B &) 2l Swad); T kg (55078 SO 208 Sx0ad) Dolld adyen A bl B
20l A CIn¥y Q3072 3 kg «HOCin B Q50738 4 kg, e0d S0ard B il 2 my/s.

A G, K 3§ 00 B (e R0 9D

-



Options :

2

L | 4

2. ¢

b | WO
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A circular sheet of radius 2m and moment of inertia 4 kg m” has initial angular speed
10 rad /s. A constant tangential force is applied and the sheet is stopped in 5 sec. The
magnitude of the force is

TPgPGaion 2m oOCKL &ESgErato 4 kg m’ D) w8 ST Dot 50l & 10 rad /s.

L

sy E&g{iﬁg O oG Q{:m*ﬁoﬁ{é 208 2000 5 sec 95 TPAD Wed. o D?még_r 20eiTm a0,

Options :

4N
1. ¢

8N
2. %

2N
3. &

16 N
4, ®
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A body executes simple harmonic motion with a period of 0.2 s and amplitude 5.0 cm.
The displacement of the body from the mean position when it has the velocity of

0.4m m/s 1s

&350 POl 0.2 5 2O oS00 5.0 cm e 28 Sad) VEFTORSE SoTER)

Do) B S5e5 047 M/s aDS) R DHIED PSID Do S5KVY PSeIoFasw:

Options :

2 cm
1. %

3cm
2.9

2.5 cm
3. %

4 cm
4. %
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An object 1s launched from surface of earth with speed 1/4gRE . Where REg is radius of

earth and g 1s the acceleration due to gravity at earth’s surface. The speed of the object
at infinity 1s

APEHOBLe Wod w8 SKPH S& 48R, RE BFTgPEsmn ook g DS,
R )E AFEHOB50 S PAAPATE. BSoto $¢ SKad CIOY, S

Options :

1. #
2eR

2.
\I'BERE

3. %
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A steel wire of length 1.5 m can withstand a maximum 1500 N tension before it breaks.
The tensile strength of steel is 5x10° N/ m” . If the same wire is stretched by 0.20 em
in the elastic limit. the tension in the wire is (Young’s modulus of steel 2x10'' N/m?)

1.5 m 2réad) aHed) €80y A5 BN a0y (1030 1500 N 555 s tiotsy. &8oy, i,
S35 weo 5x10° N/m’. @00 Siieh S Po¥ 0SS 0.20 cm PHOR, S5 AT S
(680p 0% cea¥sin 2x10" N/m?)

Options :

750N
1. %

300 N
2. ¢

225 N



1250 N
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Consider water flowing steadily in a pipe of varying cross sectional area and height as
shown in figure. The area of cross section at A & B are 20 cm” and 40 cm? respectively.
The velocity of water at point A 1s 2 m/s. The work done per unit volume as water
moves from A to B in J/m’ is

(Density of fluid = 10° kg/m>. g = 10 m/s?)

PSP SES) BEISH FPOZSN SOOI I DT SFBIED TES PSS e
DT aDS) S5ek08 06, A 000K B © 0958 Jeurgen SENP 20 em? 58050 40 em’.
A $& 85 35w 2 m/s. A o & B 5o eoenehns) s,

e, DS DO

Heo7Es DSDHOSTE B J/m’
(TP PoldS = 10° kg/m’. g = 10 m/s?)

B

Y

I'?I Gm

Am




Options :

28500
1. ¢

47000
2. ®

56500
3. %

14000
4, %
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Water rises to a height H in a capillary tube of area of cross section A. To what height
will water rise in a capillary tube of area of cross section 4A

@SS JPOIN A oDJ) FHTPOES A0 H JH 3008, &

-
]

S3TPO%S A o) DK DE0eH?

a*Ef

§S JPugo 4A o)



Options :

H

4
1. ®

H

2
2. ¥

2H
3. %

4H
4. %
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A black body 1s at 727 °C. It emits energy at a rate proportional to fourth power of an
absolute temperature (T). Which of the following 1s the value of T?

B Ey0 Sed 727 °C S 08 STP0ewd $§ Bew DB &S (T) vy Toend Hrers
T STt aHotnod. 0w HEK &Y (T) T, DeVS?

Options :



1454 K

] ®

T2TK
2. %

1000 K
3.9

100 K
4. %
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If the thermal energy of 2x10°J is used to boil the water of 0.5 kg at 0 °C, then the
specific heat capacity of water is nearly equal to

0.5 kg © 38D 0 °C & 0OASERE FES &3 ¥ 2x10°), wond 3¢ 3PS

Options :



43/kg °C

1. =

40 J/kg °C
2. %

4 kI/kg °C
3.¢

40 kI/kg °C
4. %
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Match the colummns for the first law of thermodynamics

ARG & (IBTPY ACLNITPDS Sold SPLLNLN HSDEI0

Column -1 Column — II
PO =1 Podw = 1T
A) Adiabatic processes I) W =0, AE_#0Q

26"0¥ H8OH
® 0w A

B) Constant — volume processes I) Q =W,; AE_ =0
.:?&_:_Jd FSVNECOIN LR oV

C) Isothermal processes iy © =b AE., =-W
030y psat

D) Constant — pressure processes IV) W=0; AE_ =Q

00 DG RS0%
= o

(W —work done. Q -heat absorbed. AEix - change of internal energy)
(W — 2205 Q. Q —F"200 &3ad0. AEint - ©90S8S 55" Jmcy)

The correct match 1s
Xaéq}.}rﬁ 23¢9

Options :



A B C D

I1I IT IV I
], %
A B C D
I1I IV II I
2.¢
A B = D
v I II I1I
3. %
A B C D
I III 1A% IT
4. %
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Choose the correct statement.
DOTNS DeSGEID c;]f;f-.;}lé"*uf; :

Options :



1.v

The second law of thermodynamics disallows some processes consistent
with the first law of thermodynamics

e & ST QDI KD0IEDS £'0) DECHOD EHHS T Dol
DODEKS50 BENIDSED

Spontaneous processes are reversible

0353005 HB0HEN ey Soeiatd HECHEN

Inn 1sothermal quasi static processes. the heat cannot be absorbed or given
out by the system

PvEE- VS IRVINVESS di‘af_nff S &GP 3 a0t o000k zochdado
*52&5563613



In quasi-static processes. the pressure and temperature of the
environment can differ from those of the system significantly

L5 D0 DSOS, DOITPL 8385aD w000 &aF(IE Spadio ) Eold e
[ L 3 S =

Eﬁcéloﬁ“ @uﬁﬁw
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At constant pressure. the temperature and volume of a gas are increased by 2 °C and
0.5% respectively. Find the initial temperature,

B D8 Do 5, W8 POHIYH SFHS OO WSHOSTHe SEIP 2 °C OO 0.5%
o). 57O EY{HAODH LA ol

Options :

400K

200K



100 K

150K
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A wave travels from a denser medium to rarer medium. then match the

tollowing columns.

Column-I
A) Speed of wave
B) Wavelength of wave
C) Amplitude of wave

D) Frequency of wave

I)
IT)

I1T)
IV)

Column-II

will increase

will decrease

will remain unchanged

may increase or decrease

28 Blolfo Fofd OIrSSo Do A0 AIrPIEAS JOIrPERI) &, VoS Fob

LN 23650800,

SISV
A)  B8ofi 6
B) &8off S8eindgain
C) 8l Eoaddbdned
D) S8 &St 302350

The correct match 1s

OGS 23¢9

Options :

I)
IT)

I1T)
V)

s - 11

E VgV VT

Sl

NVLTeTaN

2S5y S Siidudny



A B C D

II I ] II
], %

A B C D

I II I II
2. %

A B C D

I I | 11
3. ¢

A B C D

II II II I1I
4, %
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A light ray refracts through a long glass like cylindrical rod at an angle of 60° to the
axis of rod and falls at a critical angle at the rod-air interface. The refractive index of
rod is

2§ IS e Wrarwrd e I8, $& w8 60° S

&5 208 20e® 88c0 égﬁ&ﬁnﬁu woled
TR0 5@-@@ oS D¥s éig} '/n}on}é- §'tr0 &b, §<’.22 &55 2deded (weako

Options :

115
1.

1.35
2. ®

175
3. %

2
4. <

Question Number : 103 Question Id : 1056152183 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



A parallel beam of light falls on a narrow slit of width 0.1 mm and the resulting
diffraction pattern is observed on a screen at a distance of 1.0 m. If the first minimum

1s observed at a distance of 4.0 mum from the centre of the screen. then the wavelength
of the light 1s

0.1 mm SEL0Y HI) DY D IO B 8 NP FoBiYorad DEID DO HOS
DIES $rgirdy 1.0 m EPSetSD B & HOIVSWESD. BE Sofo Do S0EES EAHSw
4 mm S& HSD, Pod Sal DY

Options :
600 nm
1. %
500 nm
2. %
550 nm
3. %
400 nm

4. v
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Three charges 2Q. q and 4Q are placed on the x — axis at position 0. r and 2r
respectively. If the force on charge 2Q at x = 0 1s zero, then the magnitude of q 1s

e wdTen 2Q, q DO 4Q OB X — ®Ego W S 0, r OGS 2r © S

o, 2Q d¥o 0 X = 0 3¢ 2000 0l BWOWES, Ay WOt

Options :
—4Q
1. ®
-Q
2. ¢
-2Q
3. %
Q
2
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A capacitor of capacitance C is charged to a potential V and stores some energy E. A

: . : E ;
second capacitor of capacitance 2C is to store energy 7 The second capacitor must be

charged to potential

08 C oSy £aIOD V E oed” esddDOR trAS wrids E. <0G 2C £ odady

: E _
0306 S 98 7 Oolead 5300300 L3 DOW FE a0

Options :

NERY
1. ®

o

3
2. %

V

3.¢



Vv
NG

4. %
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Drift velocity of electrons 1s due to
DRI BDNEE aifaln &R S
Options :
Motion of conduction electron due to random collisions

L9 D0NAES LOZIDIPECL) 30 TPas a]msaj,fmu Heddcdo

2

Motion of conduction electron due to electric field

D Eo SO TITE DOUFIRLL (ieidde

—0

2. ¥



Repulsion to the conduction electron due to inner electrons of ions

90LPDL 9o .:;]f.:rg}jct’uf_s 058305 T &J@gﬁm@ D¥Yea

Collision of conduction electrons with one another

TarE TR sl TP Wi BRIrEw
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The resistance of a wire at 0 °C and 40 °C 1s 4 Q and 4.06 € respectively. When the wire
1s mserted in a hot bath. its resistance 1s 4.15 Q. The temperature of the bath 1s

w8 & AEGe 0 °C 500w 40 °C $& SEIP 4 Q 50akn 4.06 Q. 28 o3& TPDHEeS
s A G0 4.15 Q. TD8e Ay, &P

Options :

100 °C
1.v



120 °C

2. %
240 °C
3. %
200 °C
4. %
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An electron is moving with velocity 107 my/s near to a wire carrying current of 2.0 A. If
the electron 1s moving parallel to the wire from a distance apart 1 cm. the force on the

electron will be xx10™""N. The value of x will be

(1o =41 X 107 SI unit: charge of electron =1.6 X107 C)

2.0 A JaPiFo ad3) B SIS wl DU 107 m/s ifees® Eoened) &, JuFrse SiI%
VeSroB8orT 1 cm &S S0enedd) apdh @UE‘}?E a0dd 2o xx107" N . 008 x Deed
(o =41 X107 SI DSrEen, dOF9R v =1.6 X107°C)

Options :



1.6

1. %

3.2
2. %

4.8
3. %

6.4
4.
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Which of the following statements is correct about moving coil galvanometer (MCG)?
o doh PoNS rPer e dirded (MCG) (b)) Sob o) DasSes WV eleRVN )

Options :



In MCG. the coil rotates 1n a magnetic field when no current 1s passed through
the coil

MCG €9 S&6" DTS ©0okPy ot 5ot Sty HORR0QV0B

1. %
The plane of the coil must be aligned in magnetic meridian
ey Do @ONTy D OGONN" D Vo8 aoted
2. %
A MCG can be converted mto an ammeter by mntroducing a shunt resistance of
small value in parallel
DS DS D) Q& ATTR) ASTeBET oPed MCG 0 wdnytobrr
INVLIGRTNIRY
o Yol
Galvanometer constant depends an earth’s magnetic field
PORT® siPRQ T80 GiFre0iiry o EEo ol Grditied
4, %
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Correct Marks : 1 Wrong Marks : 0

A short bar magnet i1s placed with its axis at 30° with an external field 0.05 T. If the
. . ¥ .

magnetic moment of the magnet 1s 0.8 Am~. then the torque experienced by the magnet

18

005T WEJ"% i@rﬁé 307 & ‘?51550 ooty ¥ & @Dl{n}?:}ta_offi’o o)oe0Gendd. @Qﬁ?&oéo

D08y, WO 0 gPsinEo 0.8 Am? 0w, 0Py oo BDEIDD &r8)

Options :

0.10 N.m
1. %

0.08 N.m
2. ®

0.01 N.m
3. %

0.02 N.m
4.
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A conducting circular loop 1s placed in a uniform magnetic field B = 0.025 T. with its
plane perpendicular to the field. The radius of the loop is made to shrink at a constant
rate of 1 mm/s. The induced emf. when the radius 1s 2 cm. would be

w8 SYTTE TTE @) E0S wahrye ESe B =0.025 T & &0 Svo E5°R8
©LollelT 0ol ewtGIR. &Yy JPgPPde V0N O 1 mm/s & SNEN oLWEIR.
TFgrdo 2 cm odcd) s OGS emf

Options :
f T A
— Vv
2
1. %
() pVv
2.9
(2m) pVv
3. %
(2.5m) pv
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An LCR series circuit with C =100 uF,L =970 mH and R =4Q1is connected to an
AC source of emf & = (100)sin(100¢) volts. Find the peak current.

383 LCR 00005 C=100 4F.L =970 mH 00050 R=4Q & W0t 83550 emf
£ =(100)sin(100¢) ﬁﬁ?j—f SISVISENIAIV ANV e RATVEEV S RTRSINVISENET S

Options :

25 A
1. *

20A
2.

15 A
3. %

30A
4. %
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Correct Marks : 1 Wrong Marks : 0

Match the following

ATV ATVE-- 3PS VIRDINGY

A)

B)

C)

D)

E)

Type of EM wave
EM &deii &80

Microwave

253

IR

ESloloNlr

X-ray

X-5080

Ultraviolet

SeeT ares

(Gamma rays

PoaT™ S8

The correct match 1s

O

o 8369

Wavelength Range
Sa0iEg g

I) 1 mmto 700 nm
II) 400 nm to lnm
) <10~>nm

IV) 0.1 mto 1l mm

V) 1nmto 102 nom



Options :

A B C D E
IV I II A% ITT
1. %
A B C D E
I II1 II A% IV
2. %
A B & D E
v III v 11 II
3. %
A B C D E
v I V I1 IT1
4. ¢
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In a photoelectric emission experiment. the photocurrent is brought to zero by a
stopping potential of 0.50 eV. If the work function of the metal i1s 2.0 V. then the
wavelength of the incident light is

(Take he=1240 eV.nm)

el o
S o) axd ;éa?ua‘.‘i,o 2.0 eV 90008, DEI5eoed fﬁf}oﬁ@ggo

4

[

o® Dy &Pl PAIFtied, Fo? RIPrA) VTG0 0.50 eV owr) Ko @@y,

4

(he=1240 eV.nm P S5 o&)

Options :

476 nm

486 nm
2. %

496 nm
3. ¢

506 mm
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Proton and alpha particle are released in same uniform electric field. Let /4, and /, are
the de-Broglie wavelength of the proton and the alpha particle. respectively. after they

A, .
15

move the same distance in the field. The ratio

-

A

¥

w¥ DE6S DEGEESS 2.8 Frérdd SO0k af Loy Smdn Ao Dobegron. 4,

0ok 4, Lo ST Férady bckn wur) Swru &) Slalidurgy, wd B a8

_ A
BB HOITPEHDS BT 9K, L NS
A

(4

Options :

3. ¢



4.%
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An electron 1n a hydrogen atom makes a transition from n = ni1 ton =n2 (wheren is a
principal quantum number of a state). The time period of electron in the initial state 1s
eight times than that of the final state. then which of the following statements 1s TRUE?

G DTSTPENHEV DUFID 1 = N1 VoD 1 =2 K Jofabese Do (FSHE n o

Py

au-

2

DI DEPOND, &2 S TPEES' &) VSIS DSBes HOTLSE?

S Ay oS FLolad Doy BONS). SRR JuFiw FUD AR Ferdd

Options :

1n1 = 3n>
1. %

1n; = 4n»
2. %

n = 2n2

3.¢



n = 5n»
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; = e : 27 125 .
The ratio of the radii of the nuclei Al and ,Te ™ is

Options :

35
1. ¢

2T ERa
2. %

13552



14 : 73
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In a p-n junction. potential barrier of 200 meV exists across the junction. A hole with
a kinetic energy of 300 meV approaches the junction. Let Ej and E» be kinetic energies
of the hole when it crosses the junction. while it approaches the junction from the

p-side and n- side respectively: The value of % is

|
a8 pn Db 200 meV © éﬁ&@n‘ﬁﬁéo ol WeBelad) Q. (134§ 300 meV oHady &f
Folain Do iy &. E1a0dain B2 wu Gofiain alwg)y, (tde d5oen. So@eaine RNedd

. A, e i e, W, W o = L:-
SEES) s SEIRITP P-da) nde& - aJay) RedR) TNy, (1338 WONS L"_ DI
=)
Options :
0.2
1. %
5.0

2.¢



1.5
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Identify the correct option. if A and B are mnputs and C is the output in the following
logic circuit.

00 By, SLOL A OO B 0 8AE <000k C 9a)eSendd 90w D0 0Dy

iﬁ}go;ﬁoﬁ =

——

Options :



A=0B=0,€=1

1. %

A= B=]; G=10
2. %

=) =] = ]
3.¢¥

AL B8 =
4. %
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Which of the following band of frequency is used in satellite communication?

SO HoNTPUES' S0 &) T Sy DD TES S

%] I

Options :

3—7GHz
1.



3—7MHz

2. %
3-7KHz
3. %
3—7THz

4. =
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The ratio of the radii of the 2 orbits of hydrogen atom and the 3™ orbit of Li** ion is

TFERD HESToe0S) Dodiad EXe o0OCKL Li™ 90irR il s cln). arePore) 8ned
o) o 3 27 4 B o\-l—n

Options

3:4
1. ®

4:3
2. ¢

4:1
3. %

£ e |
4. %
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The valance shell electronic configuration of Nb and Mo atoms are, respectively
Nb 500050 Mo 088 e0e) S 27 aﬁﬂgj,n‘_: QT30 SBITP
Options :
4d°5s" and 4d*5s’

4d°5s" sodosw 4d*ss’

1. %
4d*ss' and 4d*ss’
4d%5s' 060 4d*5s?
2. %
4d’5s% and 4d’5s!
4d°5s" 0w 4d°5s'
3. %

4d*ss! and 4d°5s!

4d*5s' sooosw 4d4° S
4.
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The successive IP values of Mg are 750 and 1500 kJ mol™' respectively. Identify the
percentage of Mg™ and Mg”", respectively, when 1 g of Mg absorbs 50 kJ of energy.

Mg O&adrewad) Ow, wobdEdn POICHSE dwodes ST 750 Kok
1500 8. 2765, IS —1. 1 P Mg 50 &¢5° sTe50 48 (1aredaiined o5 3y& Mg ™ sodakn Mg

PO SONHT

Options :

50, 50
1. ®

100. 0
2. %

30. 70
3. %

70. 30

4. ¢

: Yes Is
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Match the following

§ou’.—?'.:- TPEIR 20wk

Atomic number [UPAC Symbol
00aSTED ol IUPAC b&o
A) 103 I) Mt
B) 107 II) Bh
) 109 o Lr
D) 111 IV) Ds
V) Rg

The correct match 1s

KOG 2389

Options :



I I Vv IV
1. %
A B C D
I11 I IT IV
2. %
A B B D
I Vv v I
3. %
A B 2 D
11 II I V
4.9
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The shape. numbers of bond pairs and lone pairs of electrons in XeF4. respectively. are

XeF4 e9eaad) CO08y ©5)D, ol DUFIR0 RS DO wold JOFINL RS ST

Options :

Octahedral. 1 and 2

eFarEo, 1 Sdoky 2
1. %
Square planar. 2 and 4
SO Db, 2 ahbakin 4
2. %
Tetrahedral. 2 and 4
OEParEeS, 2 SH00K 4
3. %

Square planar. 4 and 2

WG RSB, 4 O 2

4. ¢
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According to Fajan’s rule. covalent bond 1s favoured by

P2 Q000 VTN DeIraEIoD 20060 08 NG FE°gain

ot

Options :

large cation and small anion

FARSL oV ot SIVIsTou SRV IVATR IV OV WY
1. %

large cation and large anion

A oo aodoin e esSaire

small cation and large anion

ﬂ&i& spdoire ooooin Sl BSOS



small cation and small anion

Qed) IR Ok D) edairo
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The van der Waal’s equation for 0.5 mole of a gas is

0.5 SO TPONDE TPotd TP e EGEIaD

Options :

[P+431]=(5—Tb)

(P+ - 1](2‘%"—11]:RT
av?

2.¥



[P+ 31}(2v—4b)=RT
4V

PV =nRT
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Among the gases N,,CH,CIl,, Cl, and CCl, the smallest “a’ and the largest ‘b’

respectively will be shown by gases [a and b are van der Waal’s constants]

¥ ‘b’

Co

N,,CH,Cl,, Cl, $80%0 CCl, FoSuees o8 ¢80, ‘a’ Soakn ©

&

QNSO DO 0w TPORNHLV SET (a O b TPeliS TS YT eTLL)

5
Q

Options :
N,,Cl,
1. ®
Cl,,CH,C,



N, . CCl,
3.

CH,Cl,, CCl,

Question Number : 129 Question Id : 1056152209 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

100 ml of PH3 on decomposition produces P(s) and H2(g) under isobaric condition. The
final volume of the container is

5 100 0. ©. Y0 AAIRIIN Jod P(E0aS) DO Ha(aR) ed

S
Q) BoR0e0. g STy, A DSHOSIESD
Options :

50 ml

100 ml



150 ml
3. ¢

250 ml
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Which of the following 1s /are disproportionation reactions?

8ol EE 0)O/0)D SIS Sz ?

a) NH,NO, By N,0+2H,0

b) 4H,PO, —— PH,+3H,PO,
¢c) 2KMnO, ——K,MnO,+ MnO, +0O,
d) PCl; —— PCL, +Cl,

Options :



ab,c,d

2. %

b only

b oSS
3.¢

a. d only

a, d S
4. %
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Out of the given options below. which one is an intensive property?
808 QYN TPEIS" (S LS 0B ?

Options :

1§



HU+PV

2. %
AH
AT
3. %
RT
s
4.
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A vessel at 1050 K contains carbon dioxide with a pressure of 0.6 atm. Some of the
carbon dioxide is converted to carbon monoxide on addition of graphite. What will be
the value of Ky 1if total pressure at equilibrium is 1 atm.

1050 K &8¢ PSS w0y0 Gu56 0.6 @éryohée HExrd) §O0 &d) 0. & rSS'
E)R GUSEH PR FOVIYE §otd EYR IPTPSYEP S0P Ool. VTP o569 ansin

SErIai0 1 €5y 03000 @S Kp dend



1.6 atm

1. =

3.2 atm

27 Moy 2 3

3.2 e9dy &n}cjcddﬁ
2. ¢

0.6 atm

0.6 @éﬁéﬁa&mcﬁ
3. %

1.0 atm

1.0 @*&;’D@E&goﬁsé
4. %
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If [Hgoq: 7.5x10°M .the[OH_} is

[HSOJF}: 7.5%10°M &9000/5S [OH_] DLV

Options :

Ix107“ M
1. =

1.3x107 M
2. ¢

2x107H M
3. %

6.5x10°M
4. %

Question Number : 134 Question Id : 1056152214 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



The correct statement among the following is

800 PEES” HOAS DA

L
Options :
Relative abundance of deuterium is more than protinm

2530000 FDE ©aI5eh FE50Ho Lold DKoy

1. %

Relative atomic mass of deuterium is greater than protium

Kog¢300%e PRl DESTEL) (s FFEI0de ol 0J80p,. &5
2.

Deuterium has more neutrons than protium

?lﬁf"{:ﬁ}o 503 5@5@5@@0 035\331.55 nﬁ“ﬁ@”&@nﬁ} 500 ol
3. ¢

Deuterium is radioactive

Cogd0ke BGAIrTrOY S Hurgain
4.%

Note: For this question, ambiguity is found in question/answer. Candidate will get full marks for this question if any of the correct options



are chosen.
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At room temperature. which of the following compounds has a chloro bridged
structure?

50 SIS 255 §obd ) NI §'E DL L20SE QTP ¥OH Sotwod ?

Options :

BeCly
1.¥

MgCly
2. %

PbCly
3. %

ZnCl>
4, %
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Assertion (A) : The trivalent molecules of boron trihalides behaves as Lewis acid.

Reason (R) : Boron trihalides cannot accept a pair of electrons.
Q3B (A) : BRodIras @amadetio e5TP CRIFOEL QoI Gare.
8o (R) : 2WOrR E90FOE LD WJUFIR 2D D3E00Na).
The correct option among the following is
&8 S0l DOYTOS” HOGNIL
Options :

(A) 1s true. (R) 1s true and (R) 1s the correct explanation for (A)

(A) He95a5, (R) 0950 000K (A) § (R) HOGVS D588

(A) 1s true. (R) 1s true but (R) is not the correct explanation for (A)

(A) De5ga50, (R) D85350 @900 (A) § (R) DO dSBe0 ¢



(A) 1s true but (R) is false

(A) a0, 30 (R) @090
D 2

(4]

3.¢

(A) 1s false but (R) 1s true

(A) ©855m, T (R) 0930
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Which of the following statement is/ are true?

A) Diamond is the thermodynamically stable allotrope of carbon

B) Diamond has 2D-network & Graphite has 3D-network

C) C — C bond length within a layer of Graphite is 141.5 pm

D) Cso contains 12 five — member rings and 20 six member rings

$00 T3 HOAWN PAFUBSL D ?

A) 80 Grare@Urus Gadot &uiisds 3709 5050 V8IS0

B) GodooG 2D-network QTP TRy OCSW PRE 3D-network Qo7 &Ry OO
TALIO W)

) TR FES C — C 20080850 141.5 pm

D) Coo & ¢ 8000 &) SLASLn D) 06 00N el )R &)

NTDIo VIS aég &olIP0W

Options :

Aand B

A Sdcin B
1. %

Aand C

A bdain C



Cand D

C boin D
3. ¢

BandD

B &b D
4. %
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The displacement of shared pair of - electrons in a multiple bond in the presence of
an attacking reagent is called

-

G50 DenH oS 20TV 20RO R fr-dﬁvgmjém 22 Pod 2odaldd Weldi Ay oJeiotTi?
Options :
Inductive effect

@E’vl—bé aJET&ﬁ&iO
1. ®



Electromeric effect

Je§79a008 Darsan

2. ¢
Resonance
@E‘uﬁi@qﬁg

3. %
Hyperconjugation
E‘:‘}@K‘}um&éo

4. %
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Assertion (A) : n-Alkanes on heating in the presence of anhyd. AICI, /HCl gas

undergo i1somerization.

Reason (R) : Branched isomers are formed as minor isomers.

QBYBBaw (A) : @28y AICL /HCI (°) 00808 @980, QU Gt 0E)F50e0
Wotad.

o (R) : 9 BK0p.S TAR D YTgANL 2B D,

The correct option among the following 1s

&2 £old DYTOS” OGNSR

Options :
(A) 1s true. (R) 1s true and (R) is the correct explanation for (A)

(A) Dgaiw, (R) De5ga0 00a%0 (A) § (R) 00T dSGe

(A) 1s true. (R) 1s true but (R) is not the correct explanation for (A)

(A) 093850, (R) 95850 @00 (A) § (R) 0O DSes 5



(A) 1s true but (R) 1s false

(A) 0Bgain, 3 (R) @S gadw
3.¢

(A) 1s false but (R) is true

(A) euSgaiw, 5°Q (R) 0gedn
4. %
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Assertion (A) : In the mechanism of aromatic electrophilic substitution reaction. attack
of electrophile gives a & — complex.

Reason (R) : The sigma complex loses proton to generate non-aromatic compound.
Q3)BB0 (A) : DTS D§HVOE DBENE ST°g DTS OIS TG S
T — Do8HEN o) ).
0o (R) ;O — o8R0 FEPQD §'C oW IF BEdE D D YTy &]603633:@05}.
The correct option among the following 1s
&2 $old DDYTOG DOGNIB
Options :
(A) 1s true. (R) 1s true and (R) 1s the correct explanation for (A)

(A) K955, (R) 0950 000K (A) § (R) HOGLS D5ea

(A) 1s true. (R) 1s true but (R) is not the correct explanation for (A)

(A) D550, (R) 09sa0 @S (A) § (R) OGS D53 T



(A) 1s true but (R) 1s false

(A) D850, R (R) @90e5gaiw
3.¢

(A) 1s false but (R) 1s true

(A) ©085e5m, T (R) 09380
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When KCI 1s heated in the presence of potassium vapors. the violet colour of KC1 1s
due to

PETRONe PR VeEiwe” KC1 o J&3ohrr & Jothy KC1 @dga’am"ﬁ')é yle o
Options :
Schottky defects

PCy, €5 aren)
1. %



Frenkel defects

5

;.j;_oEE.'i €5 aPe

2. %
F-Centers
F-Soren
3. ¢
Metal deficiency defects
S §6S Saren
4. %
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0.

-2

Calculate the mass percentage of 25 g of NaCl dissolved in 225 ml of H

25 . ©. NaCl & 225 0.0 €365 $00020:pi D8 3E $850°8 PSR O8



9 %

2. %

5%
3. %

25 %
4. %
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The solubility of a gas in liquid mncreases with

TPSESS” §00) TPOK00Y TPSHOE BRSO DEADBCR?

Options :
Increasing temperature and decreasing pressure

S Do), HETPDY B SO



Decreasing pressure

g

V&) SheDdaiey

2. %
Increasing pressure and decreasing temperature
VETR) Ve, EFHOD SN0k S
3.¢
By sturring
2P 000083060 Sad
4, %
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Match the following.

Solo PER 2BNGG&
Metal Specific conductance
gﬁnm (XIUBSJ'F[TIJ
QY TS

(x10° SR /doeado)

A) Cu I)

B) Ag II)

C) Au I1T)

D) Fe IV)
The correct match is

RO 23¢9

Options :

A B C

III IV I
1. %

1.0
4.5
6.2
5.9

II



A B C D

II III IAY I
2. %
A B A D
I II I11 IV
3. ®
A B C D
IV I1T II I
4. ¢
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The rate constant for a reaction increases by 2 times on increasing the temperature from
27 °C to 47 °C. The activation energy of the reaction in (kJ/mol) 1s

B 585 CIEy SFHSD 27 °C ol 47 °C § DoDIED & IG5 CI0E; Bew YO0

Both D& DOASS 85 aluty ededs 13 (38 Tow/ IrS)os

Options :



] ®

27.6
2.9

110
3. %

250
4, %
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Match the following.

S0l AR BBRGIG
Reaction Chemical process
WSg SPOls pEck

A)  As,0,+ H,S—>As, S, +3H,0 I) Reduction
£c%¥Se0

B)  FeCl;+ 3H,0 — Fe(OH), +3HCI II) Double decomposition
G50y NDOIPCissw

C)  2HNO,+H,S— S(colloidal)+2H,0+2N0O, III) Hydrolysis
BODINEI

D)  2AuCl;+3SnCl, —»SnCl, + 2Au(colloid) IV) Oxidation
SHeLH

The correct match 1s

KOS 2289
Options :
A B B D
I III IV II



IT I11 IV I
2.9

A B C D

IT IV III I
3. %

A B & D

II III I IV
4, %
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Assertion (A) : The single N-N bond is stronger than the single P-P bond.

Reason (R) : Interelectronic repulsion between non-bonding electrons of N-N single
bonded molecules is possible.

)98 5350 (A) : N-N )8e00e050 P-P 82008550 063 $5)Ga05a.
w0 (R) : N-N Q¥2oanes’ S0 90858 et Sy H8e SO,

The correct option among the following is
&3 $od DTS VOGNSR
Options :

(A) 1s true. (R) 1s true and (R) 1s the correct explanation for (A)

(A) $e9500, (R) 93850 500050 (A) & (R) OGS De5ea

(A) 1s true. (R) 1s true but (R) 1s not the correct explanation for (A)

(A) D955, (R) D505 @0 (A) § (R) OGS D58 T



(A) 1s true but (R) 1s false

(A) D550, PR (R) ©0Sga0

3. %

(A) 1s false but (R) 1s true

(A) @Sz, 520 (R) vdgein
4. ¢
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The order of bond angle (H—E—H) for H2O. H;S. H;Se. and HpTe 1s
H>0. H2S, HaSe o06c80 HaTe o5 (H—E—H) 2008 §'g30 Sadvadnd

Options :

H-0O = H>8e = HoTe = H»S

H20 = H»S8 = H2Se = H2Te
2.9



HoTe = H>Se = H»S = H2O
3. %

H>O = H>Te = Ha5 = HaSe
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What is the structure and colour of C1Fs molecule?
CIFs etwa)) G008, QT°ygas 00K Soffd 0)B?
Options :
Pentagonal bipyramidal and colourless

PelIe(T 55 @iﬁ&b&l‘f’ anOCIW SolORb

Pentagonal bipyramidal and orange

DotTerT oSS :«ES&:‘.’E&:C&@ o608 Tboss



Square pyramidal and yellow

WG HOWES SOOI DAY

3. %
Square pyramidal and colourless
TGN AIOES DO GolDSAG
4. ¢
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Hydrolysis of XeF, gives. one of the following molecules as a product.

Xeﬂ 36'?..1@?;: £o woldndad)ed :3:::-&3 %@;F&T‘i%& Qfﬁgﬁo{g}o@.

Options :

XeO,

XeOF,



XeO,

XeOF,
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Copper (I) compounds in aqueous solution are not stable. they undergo
BOTPSEeS 508 (I) D0 Taren VL0 WJotESP
Options :
oxidation to give Cu™

©8y58850 3o Cu'? & 8 yGoPow

reduction to give Cu

0588830 Do® Cu < 008 E0P0w



substitution to give Cu ~ complex

W B S5 - 42 = .
VB EDE0 Woldd Cu'™ DofaPd) WO yoPow

[0 —=

3. %

disproportionation to give Cu'* and Cu

SWF SgTod Cu'? SOk Cu d o8 EFon
4.
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The outer sphere complex in the following is



[FeF,]”

2.
| CO(NH,), [
3. %
[co(c,0,),]
4. %
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Which among the following amino acids contain heterocyclic ring in them are?

Phenylalanine Tryptophan Asparagine
I I 111

Histidine Proline Glutamic acid
v \4 VI

800 RS WP DePA0D WEOKN SLOLED FUD DD?

DIV QFFr SO
I II I11
RGN FOS (EWE Gapo
IV v VI
Options :

I. IT and III

L. IT odcsw III

I1. IIT and IV

IT, III sdasw IV



IV, Vand VI

IV. V a08aw VI

ILIVand V

II. IV o800 V
4. ¢
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The metallic fluoride that can be used for the preparation of alkyl fluorides from alkyl
chlorides 1s

U0, O §0GL Dok 8T © FOELD BOrEIIR ARG a°G C'or Fok
Options :
NaF
1. %
LiF



BE3
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The suitable reagents A. B and C in the following conversions are

Br

Options :



A B C

(CH;CO),0/Pyridine Br, /CH,CO,H H,O*
DO&D
1.¢
A B B
Br, /CH,CO,H (CH,C0),0/Pyridine  H,0”
DOES
2. ®
A B 5
(OH;C0),0/Eyxiditic HBr/CH,CO,H OH
Q0GR
3. %
A B B
- Tt (CH;C0),0/Pyridine H,0*
- DOER
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The major product formed 1n the following reactions is

800 WO QBT WS &9 35 &S0

OH
i) NaOH, C,H.I
i1) CH,COCI, anhyd. AICI,
. @mg .
iii) Zn-Hg, conc. HCI
e
Options :
OC.H

CH

2 5



OC.H

H:?Cl
2. %
OH
CH,
CH.
3. %
OC,H,
CH.
4. &
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Correct Marks : 1 Wrong Marks : 0

The major product in the following reactions is

800 WSGE” QB Y% WS &9 3y &S0
i) DIBAL-H

: | i
CH,CH,CH,CH,c00C, i, — ) CH,CH,CH,CHMgBr |

iii) PCC

Options :

Nonan—5—one

1. v

Nonan—5—ol
2. %

4—Nonene
3. %

Nonan—4—one
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The correct order of reactivity towards nucleophilic addition reactions of the following
compounds 1s

0 VL TTPUL adrgSairdOS Dol g 200 WorgIue Falain

CHO CHO CHO
CH,CHO

CH,O H.C
| II 111 v

Options :

I=IT=IV=1I1

I>IV>TI>10

N=M>IV=>=1
3. %



IV=III=11>1
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Aliphatic carboxylic acids on heating with sodalime produces
DDares 5288108 @airoad FErganes” dk DA é:)c‘.’:;}d-‘a;wré-ﬁb
Options :
alkane with same number of carbon atoms present in the alkyl group of the acid

&950050065 Q BTy S ValNaTENG'RD TPUN0 DOEIPERHLED NI Doty (i Ty en

a

1.¢

alkane with twice the number of carbon atoms present in the alkyl group of the
acid

25005065 D BT S ValwaTFnG R ) DESTPEVHOE Tox) Moy (U &3S, en



alcohol with the same number of carbon atoms present in the alkyl group of the

acid

2950005 @ Ty © el INGE'D TN DEIPENHOE Vit Doddg (U eILy S
3. %

alkene with the same number of carbon atoms present in the alkyl group of the

acid

2950ai0S Q BT O Vel D FOND DO DaiiES Doty (L @Dy
4.%
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The appropriate conditions for the ammonolysis of alkyl halides are

Options :

Et>O. 100 °C. sealed tube

Et20. 100 °C, a5 (T¢9e50



CsHs. 80 °C. sealed tube

CsHs. 80 °C, a5 (TQwSw

EtOH. 100 °C. sealed tube

EtOH. 100 °C, sl (Teedw

CHCOCH;, 6 °C



